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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(CA) DEGREE 
EXAMINATION, MAY 2025. 

First Semester 

PRINCIPLES OF MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Write any two objectives of management. 
 ÷©»õsø©°ß H÷uÝ® Cμsk ÷|õUP[PøÍ GÊxP. 

2. What does bureaucracy mean? 
 AvPõμzxÁ® GßÓõÀ GßÚ? 

3. Define span of control. 
 Pmk¨£õmk AÍøÁ Áøμ¯ÖUPÄ®. 

4. What is the purpose of decision making? 
 •iöÁkzu¼ß ÷|õUP® GßÚ? 

5. Define personality. 
 BÐø©ø¯ Áøμ¯ÖUPÄ®. 

6. What is MBO? 

 MBO GßÓõÀ GßÚ? 

7. What do you mean by group behaviour? 
 SÊ |hzøu GßÓõÀ GßÚ? 
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8. Define  emotion. 

 Enºa]ø¯ Áøμ¯Ö. 

9. What is a team wheel? 

 SÊ \UPμ® GßÓõÀ GßÚ? 

10. Define leadership. 

 uø»ø©zxÁzøu Áøμ¯ÖUPÄ®. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Examine the different steps of the organization 
process. 

   {ÖÁÚ ö\¯À•øÓ°ß £À÷ÁÖ £iPøÍ Bμõ´P. 

Or 

 (b) Bring out the effective principles of planning. 

   vmhªh¼ß £¯ÝÒÍ öPõÒøPPøÍ u¸P. 

12.  (a) Write the importance of controlling. 

   Pmk¨£kzu¼ß •UQ¯zxÁzøu GÊxP. 

Or 

 (b) List the factors that affect decision making. 

   •iöÁkzuø» £õvUS® PõμoPøÍ¨ £mi¯¼kP. 

13.  (a) State the various determinants of learning. 

   PØÓø» wº©õÛUS® £À÷ÁÖ PõμoPøÍ SÔ¨¤kP. 

Or 

 (b) Enumerate the importance of motivation. 

   FUP©Îzu¼ß •UQ¯zxÁzøu GkzxøμUP. 
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14.  (a) State the functions of a leader. 

   J¸ uø»Á›ß ö\¯À£õkPøÍU TÖP. 

Or 

 (b) Explain the personality attributes. 

   BÐø©¨ £s¦PøÍ ÂÍUSP. 

15.  (a) What are the different components of perception? 

   ¦»ßEnºÂß öÁÆ÷ÁÖ TÖPÒ ¯õøÁ? 

Or 

 (b) Examine the different sources of power. 

   AvPõμzvß öÁÆ÷ÁÖ ‰»[PøÍ Bμõ´P. 

SECTION C — (3 × 10 = 30 marks) 
Answer any THREE questions. 

16. Explain the primary functions of management. 

 ÷©»õsø©°ß •ußø©¨ £oPøÍ ÂÍUSP. 

17. Discuss the need and importance of departmentation. 

 xøÓ¨£kzu¼ß ÷uøÁ ©ØÖ® •UQ¯zxÁzøu¨ £ØÔ 
ÂÁõvUPÄ®. 

18. Explain the various stages involved in the process of 
decision-making. 

 •iöÁkUS® ö\¯À£õmiÀ EÒÍ £À÷ÁÖ {ø»PøÍ 
ÂÍUSP. 

19. What is emotional intelligence? Discuss its 
characteristics. 

 Enºa] ~snÔÄ GßÓõÀ GßÚ? AuÝøh¯ £s¦PøÍ 
ÂÁõvUPÄ®. 

20. Explain the different factors affecting the group 
behaviour. 

 SÊ |hzøuø¯¨ £õvUS® £À÷ÁÖ PõμoPøÍ ÂÍUSP. 

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(CA) DEGREE 
EXAMINATION, MAY 2025. 

First Semester 

BUSINESS COMMUNICATION 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is verbal communication? 

 ö\õØPÒ \õº¢u uPÁÀöuõhº¦ GßÓõÀ GßÚ? 

2. What are the uses of internet? 

 Cøn¯zvß £¯ßPÒ ¯õøÁ? 

3. What do you mean by external communication? 

 öÁÎ¨¦Ó uPÁÀöuõhº¦ £ØÔ }Ãº AÔÁx GßÚ? 

4. What are the four elements of the written message? 

 GÊu¨£mh ö\´v°ß |õßS TÖPÒ ¯õøÁ? 

5. Write a short note on salutation. 

 ÁnUP®öu›ÂzuÀ £ØÔ J¸ ]Ö SÔ¨¦ GÊxP. 

6. What are notices? 

 AÔÂ¨¦PÒ Gß£Ú ¯õøÁ? 
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7. What is presentation in communication? 

 uPÁÀöuõhº¤À ÂÍUPUPõm] Gß£Ú ¯õx? 

8. What are the dis-advantages of oral communication? 

 Áõ´ö©õÈz uPÁÀöuõhº¤ß wø©PÒ ¯õøÁ? 

9. What is agenda? 

 {PÌa] {μÀ GßÓõÀ GßÚ? 

10. What are the features of a cover letter? 

 EøÓ Piuzvß A®\[PÒ ¯õøÁ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) What are the advantages of written communication? 

   GÊzxz uPÁÀöuõhº¤ß |ßø©PÒ ¯õøÁ? 

Or 

 (b) Explain the modern forms of communication. 

   |ÃÚ uPÁÀöuõhº¤ß ÁiÁ[PøÍ ÂÍUSP. 

12.  (a) Explain the various classification of listening. 

   ÷Pmh¼ß £À÷ÁÖ ÁøP¨£õmøh ÂÍUSP. 

Or 

 (b) What are the different channels of internal 
communication? 

   EÒ uPÁÀöuõhº¦UPõÚ öÁÆ÷ÁÖ ÁÇ[PÀ ÁÈPÒ 
¯õøÁ? 
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13.  (a) Explain the various styles of layouts available for 
business letters. 

   ÁoP Piu[PÐUS›¯ ÁiÁø©¨¤ß £À÷ÁÖ 
£õoPøÍ ÂÍUSP. 

Or 

 (b) What are the principles of précis writing? 

   xÀ¼¯©õÚ GÊzvß öPõÒøPPÒ ¯õøÁ? 

14.  (a) List out the characteristics of business reports. 

   ÁoP AÔUøPPÎß £s¦PøÍ £mi¯¼kP. 

Or 

 (b) What are the advantages of using e-mail? 

   ªßÚg\ø»¨ £¯ß£kzxÁuß |ßø©PÒ ¯õøÁ? 

15.  (a) Why is time management important in a meeting? 
Explain. 

   J¸ TmhzvÀ ÷|μ ÷©»õsø© Hß  •UQ¯©õÚx? 
ÂÍUSP. 

Or 

 (b) What are the main purpose of reading? 

   Áõ]¨£uß •UQ¯ ÷|õUP[PÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the different types of communication. 

 £À÷ÁÖ ÁøP¯õÚ uPÁÀöuõhº¤øÚ ÂÍUSP. 

17. Explain the barriers to the listening process. 

 ÷PmS® ö\¯À•øÓUPõÚ uøhPøÍ ÂÍUSP. 
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18. Discuss the different types of communication network. 

 £À÷ÁÖ ÁøP¯õÚ uPÁÀöuõhº¦ Áø»¯ø©¨¦PøÍ 
ÂÁõvUP. 

19. Bring out the importance of reports. 

 AÔUøPPÎß •UQ¯zxÁzøu u¸P. 

20. Discuss the different approaches to reading. 

 Áõ]¨£uØPõÚ £À÷ÁÖ AqS•øÓPøÍ¨ £ØÔ 
ÂÁõvUP. 

 

 

  

———————— 
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DISTANCE EDUCATION 

B.Com. DEGREE EXAMINATION, MAY 2025. 

First Semester 

BUSINESS ENVIRONMENT  

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define the term business. 

 ÁoP® GÝ® £uzøu Áøμ¯ÖUP. 

2. What is meant by global economic environment? 

 E»PÍõÂ¯ ö£õ¸Íõuõμ _ØÖa`ÇÀ £ØÔ AÔÁx GßÚ? 

3. Mention any three benefits of mixed economy. 

 P»¨¦¨ ö£õ¸Íõuõμzvß H÷uÝ® ‰ßÖ |ßø©PøÍU 
SÔ¨¤kP. 

4. Give the meaning of financial environment. 

 {va _ØÖ`Ç¼ß ö£õ¸øÍ u¸P. 

5. What do you understand by IBR?? 

 IBR £ØÔ }Âº ¦›¢x öPõÒÁx ¯õx? 

6. State the negative effects of liberalisation under NEP. 

 NEP ß RÌ uõμõÍ©¯©õUP¼ß Gvº©øÓ¯õÚ 
ÂøÍÄPøÍU TÖP. 
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7. What do you mean by privatization? 

 uÛ¯õº©¯©õUPÀ £ØÔ AÔÁx GßÚ? 

8. What is economic integration? 

 ö£õ¸Íõuõμ J¸[Qøn¨¦ GßÓõÀ GßÚ? 

9. Define the term CSR. 

 CSR GÝ® £uzøu Áøμ¯ÖUP. 

10. State any three types of co-operatives in India. 

 C¢v¯õÂÀ EÒÍ H÷uÝ® ‰ßÖ ÁøP¯õÚ 
TmkÓÄPøÍU SÔ¨¤kP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Bring out the impact of economic environment on 
business. 

   ÁoPzvÀ ö£õ¸Íõuõμ _ØÖ`Ç¼ß uõUPzøu 
öÁÎU öPõnºP. 

Or 

 (b) List out the elements of socio-cultural environment. 

   \‰P&P»õa\õμ _ØÖ`Ç¼ß TÖPøÍ £mi¯¼kP. 

12.  (a) State the types of political systems. 

   Aμ]¯À Aø©¨¦PÎß ÁøPPøÍU TÖP. 

Or 

 (b) What are the characteristics of economic systems? 
Explain. 

   ö£õ¸Íõuõμ Aø©¨¦PÎß ]Ó¨¤¯À¦PÒ ¯õøÁ? 
ÂÍUSP. 
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13.  (a) Briefly explain the major legal regulations 
pertaining to business. 

   ÁoP® öuõhº£õÚ •UQ¯ \mh Âv•øÓPøÍ 
_¸UP©õP ÂÍUSP. 

Or 

 (b) Explain the objectives of new economic policy. 

   ¦v¯ ö£õ¸ÍõuõμU öPõÒøP°ß ÷|õUP[PøÍ 
ÂÍUSP. 

14.  (a) List out the benefits and limitations of 
disinvestment. 

   •u½mkÂ»UPÎß |ßø©PÒ ©ØÖ® SøÓ£õkPøÍ 
£mi¯¼kP. 

Or 

 (b) Describe briefly the types of commodity agreements. 

   \μUS J¨£¢u[PÎß ÁøPPøÍ _¸UP©õP ÂÁ›UP. 

15.  (a) Bring out the barriers of social responsibility. 

   \‰P¨ ö£õÖ¨¤ß uøhPøÍ öÁÎU öPõnºP. 

Or 

 (b) List out the features of India’s developing economy. 

   C¢v¯õÂß ÁÍ¸® ö£õ¸Íõuõμzvß C¯À¦PøÍ 
£mi¯¼kP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Describe the macro factors affecting business 
environment. 

 ÁoP _ØÖ`Çø» £õvUS® ÷£μÍÄ PõμoPøÍ ÂÁ›UP. 
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17. Explain the objectives and functions of financial 
institutions. 

 {v {ÖÁÚ[PÎß ÷|õUP[PÒ ©ØÖ® £oPøÍ ÂÍUSP. 

18. Elaborate the impact of India’s industrial policy on 
economic reforms. 

 ö£õ¸Íõuõμ ^ºv¸zu[PÎÀ C¢v¯ öuõÈÀxøÓ 
öPõÒøP°ß uõUPzøu GkzxøμUP. 

19. What is globalisation? Explain its benefits and 
limitations. 

 E»P©¯©õUPÀ GßÓõÀ GßÚ? Auß |ßø©PÒ ©ØÖ® 
SøÓ£õkPøÍ ÂÍUSP. 

20. Analyse the social responsibilities of business to different 
groups. 

 öÁÆ÷ÁÖ SÊUPÐUS ÁoPzvß \‰P¨ ö£õÖ¨¦PøÍ 
£S¨£õ´Ä ö\´P. 

 

 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(CA) DEGREE 
EXAMINATION, MAY 2025. 

First Semester 

FINANCIAL ACCOUNTING 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. State any two objectives accounting. 

 PnUQ¯¼ß H÷uÝ® Cμsk ÷|õUP[PøÍ TÖP. 

2. State the rule of accountancy. 

 PnUQ¯¼ß Âvø¯ TÖP. 

3. What is meant by trial balance? 

 C¸¨£õ´Ä £ØÔ AÔÁx GßÚ? 

4. Define promissory note. 

 EÖvö©õÈ £zvμzøu Áøμ¯ÖUP. 

5. What are fictitious assets? 

 PØ£øÚa ö\õzxUPÒ Gß£Ú ¯õøÁ? 

6. Define bank reconciliation statement. 

 Á[Q \›Pmk® £mi¯ø» Áøμ¯ÖUP. 
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7. What is partnership deed? 

 Tmhõsø© J¨£õÁn® GßÓõÀ GßÚ? 

8. What do you mean by provision? 

 JxUS £ØÔ }Âº AÔÁx GßÚ? 

9. What is meant by ‘Over Subscription’? 

 ªøP J¨£® £ØÔ AÔÁx GßÚ? 

10. What do you mean by redeemable preference shares? 

 «ÒuS •ßÝ›ø© £[SPÒ £ØÔ }Âº AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Distinguish between financial accounting and book-
keeping. 

   {v{ø» PnUQ¯À ©ØÖ® PnUS øÁ¨¦PøÍ 
÷ÁÖ£kzxP. 

Or 

 (b) Give Journal entries for the following transactions. 

  (i) Started business with cash Rs. 60,000 

  (ii) Opened a business with a deposit of Rs. 20,000 

  (iii) Purchased machinery for Rs. 22,000 pay cash 
of Rs. 15,000 and the balance on account 

  (iv) Earned commission in cash Rs. 900 

  (v) Withdrew cash Rs. 2,700 from bank 

  (vi) Paid office rent Rs. 1,100. 



D–8224 
  3

   ¤ßÁ¸® |hÁiUøPPÐUS SÔ¨÷£mk £vÄPøÍz 
u¸P. 

  (i) öμõUPzxhß Â¯õ£õμ® öuõh[Q¯x  
¹. 60,000 

  (ii) øÁ¨¦PÐhß Â¯õ£õμ® öuõh[Q¯x  
¹. 20,000 

  (iii) C¯¢vμ® Áõ[Q¯x ¹. 22,000. AvÀ  
¹. 15,000 öμõUP©õP ö\¾zu¨£mhx. «u® 
EÒÍ öuõøP PnUQÀ øÁUP¨£mhx. 

  (iv) öμõUP©õP ö£ØÓ PÈÄ ¹. 900 

  (v) Á[Q°¼¸¢x öμõUP©õP Gkzux ¹. 2,700 

  (vi) A¾Á»P ÁõhøP ö\¾zv¯x ¹. 1,100. 

12.  (a) From the under mentioned balances, prepare a trial 
balance as on 31.03.2015. 

 Rs.  Rs. 
Opening stock 35,000 Machinery 60,000
Salaries 20,000 Sundry creditors 24,000
Sundry debtors 50,000 Purchases 1,20,000
Wages 16,000 Cash 1,200
Sales 2,01,200 Furniture 15,000
Rent 10,000 Bills receivable 20,000
Capital 1,00,000 Bills payable 22,000

   ¤ßÁ¸® C¸¨¦PÎ¼¸¢x 31.03.2015 AßÖ J¸ 
C¸¨£õ´Ä u¯õ›UP. 

 ¹.  ¹. 

öuõhUPa \μUQ¸¨¦ 35,000C¯¢vμ® 60,000
\®£Í® 20,000£Ø£» PhÜ¢÷uõºPÒ 24,000
£Ø£» PhÚõÎPÒ 50,000öPõÒ•uÀ 1,20,000
T¼ 16,000öμõUP® 1,200
ÂØ£øÚ 2,01,200AøÓP»ß 15,000
ÁõhøP 10,000ö£ÖuØS›¯ ©õØÖa^mk 20,000
•uÀ 1,00,000ö\¾zxuØS›¯ ©õØÖa^mk 22,000

Or 
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 (b) From the following information ascertain gross 
profit and net profit. 

Opening stock 2,400 Carriage inwards 524

Purchases 15,205 Manufacturing wages paid 2,800

Sales 20,860 Manufacturing wages owing 96

Closing stock 3,840 Loss due to fire 1,000

Returns outwards 185 Indirect expenses 200

Returns inwards 860   

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x ö©õzu C»õ£® ©ØÖ® 
{Pμ C»õ£zøu PnUQkP. 

öuõhUP \μUQ¸¨¦ 2,400EÒyUS T¼ 524

öPõÒ•uÀ 15,205EØ£zv T¼ ö\¾zv¯x2,800

ÂØ£øÚ 20,860EØ£zv T¼ 
 ö\¾zu¨£h ÷Ási¯x 96

CÖv \μUQ¸¨¦ 3,840w°ÚõÀ HØ£mh |mh® 1,000

öÁÎv¸¨£® 185©øÓ•P ö\»ÂÚ[PÒ 200

EÒv¸¨£® 860   

13.  (a) The Bank Overdraft of Mr. Sudhakar on 31.12.2008 
as per cash book is Rs. 4500. From the following 
particulars, prepare bank reconciliation statement : 

  (i) Unpresented cheques Rs. 1500 

  (ii) Uncleared cheques Rs. 850 

  (iii) Bank interest debited in the pass book only  
Rs. 250 

  (iv) Bills collected and credited in the pass book 
only Rs. 400 

  (v) Cheque of Ashok dishonoured Rs. 250 

  (vi) Cheque issued to Sagar entered in the cash 
column of the cash book Rs. 150. 
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   31.12.2008 AßÖ v¸. _uõPº Gß£Á›ß öμõUP 
Hmiß £i ÷©ÀÁøμ£ØÖ ¹. 4500. ¤ßÁ¸® 
Â£μ[PÎ¼¸¢x Á[Q \›Pmk® £mi¯ø» u¯õ›UP. 

  (i) \©º¤UP¨£hõu Põ÷\õø»PÒ ¹. 1,500 

  (ii) Á`»õPõu Põ÷\õø»PÒ ¹. 850 

  (iii) Á[Q ö\À÷»miÀ ©mk® £ØÖ 
øÁUP¨£mkÒÍ Á[Q Ámi ¹. 250 

  (iv) Á[Q ö\À÷»miÀ ©mk® Á`»õUP¨£mk 
ÁμÄ øÁUP¨£mh Esi¯À ¹. 400 

  (v) A÷\õUQß Põ÷\õø» AÁ©vUP¨£mhx ¹. 250 

  (vi) \õP¸US Âkzu Põ÷\õø» öμõUP Hmiß 
öμõUP £zv°À £vÄ ö\´¯¨£mhx ¹. 150. 

 Or 

 (b) Distinguish between bill of exchange and 
promissory note. 

   ©õØÖa^mk ©ØÖ® EÖvö©õÈ £zvμzøu 
÷ÁÖ£kzxP. 

14.  (a) L and M were Partners sharing profits in the ratio 
of 5 : 3. In view of N’s admission, they decided to 
revalue their assets and liabilities as indicated 
below : 

  (i) To increase the value of Land by Rs. 30,000 

  (ii) Reduce reserve for doubtful debts by Rs. 400 

  (iii) Reduce machinery by Rs. 8,000 furniture  
Rs. 2,000 and stock Rs. 6,000 

  (iv) Provision for outstanding liabilities was to be 
created of Rs. 400 

   Give Journal entries. 
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   L ©ØÖ® M TmhõÎ¯õP ÷\ºzx »õ£zøu 5 : 3 GßÓ 
ÂQuzvÀ ¤›zxU öPõÒQßÓÚº. AÁºPÒ ‘N’ 
Gß£Áøμ ThhõÎ¯õP ÷\ºUP RÌUPshÁõÖ 
ö\õzøu²®, ö£õÖ¨ø£²® ©Ö©v¨¥k ö\´QßÓÚº. 

  (i) {»zvß ©v¨ø£ ¹. 30,000 AvP¨£kzxÁx 

  (ii) I¯UPhøÚ ¹. 400 SøÓ¨£x 

  (iii) C¯¢vμU PnUQÀ ¹. 8,000 AøÓP»ÛÀ  
¹. 2,000 \μUQÀ ¹. 6,000 SøÓ¨£x 

  (iv) öPõk£h ÷Ási¯ ö£õÖ¨¦PøÍ ¹. 400 
PõmkÁx. 

   •uØSÔ¨÷£miÀ £vÄ ö\´P. 

Or 

 (b) P and R are partners sharing profits in the ratio of  
3 : 2 on June 30, 2016 their balance sheet showed 
the following : 

  P’s capital – Rs. 40,000; R’s capital – Rs. 30,000, 
Reserve – Rs. 20,000 ‘P’ died on 1st October 2016. 
His heirs were entitled to (i) His share of goodwill 
worth Rs. 40,000; (ii) Interest on capital of Rs. 20% 
p.a. The firm has taken a joint life policy of  
Rs. 50,000. P withdrew Rs. 30,000. Show his capital 
account to ascertain the amount payable to his 
heirs. 

   P ©ØÖ® R TmhõÎPÒ 3 : 2 ÂQuzvÀ C»õ£zøu¨ 
£QºQßÓÚº. áúß 30, 2016 |õÍßøÓ¯ AÁºPÍx 
C¸¨¦{ø» SÔ¨¦ ¤ßÁ¸©õÖ. 

  P–°ß ‰»uÚ® & ¹. 40,000 R–°ß ‰»uÚ® &  
¹. 30,000. Põ¨¦ & ¹. 20,000. AU÷hõ£º 1 2016 
AßÖ ‘P’ Põ»©øhQÓõº. AÁμx Áõ›_ 
¤ßÁ¸£ÁØøÓ ö£Ó E›ø©¯õÍμõQÓõº. (i) AÁμx 
£[QØPõÚ |Øö£¯º ©v¨¦ ¹. 40,000 (ii) ‰»uÚ® 
«uõÚ Ámi BskUS 20% A¢{ÖÁÚ® J¸ Tmk 
B²Ò Põ¨¥mkz vmhzøu ¹. 50,000ØS 
Gkzv¸¢ux. ‘P’ ¹. 30,000 GkzxÒÍõº. P°ß 
Áõ›_US ÷\μ ÷Ási¯ öuõøPø¯U PnUQhz 
÷uøÁ¯õÚ ‰»uÚU PnUøP u¯õº ö\´P. 
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15.  (a) State the objectives of providing depreciation. 

   ÷u´©õÚzøu E¸ÁõUSÁuß ÷|õUP[PøÍU TÖP. 

Or 

 (b) A company forfeits 100 shares of Rs. 10 each, 
originally issued at a premium of Rs. 2 per share. 
The shareholder paid Rs. 4 per share on application 
but did not pay the allotment money of Rs. 4 per 
share (including premium) and call of Rs. 4 per 
share. These shares were subsequently reissued at 
Rs. 11 per share as fully paid up. Pass journal 
entries. 

   ¹. 2 •øÚ©zvÀ öÁÎ°mh 100 £[SPÒ ¹. 10 
Ãu® EÒÍøÁ JÖ¨¤Ç¨¦ ö\´¯¨£mhx. J¸ 
£[Suõμº Âsn¨£zvß «x ¹. 4 ö\¾zvÚõº 
BÚõÀ JxURk ¹. 4 (•øÚ©® ÷\º¢ux) ©ØÖ® 
AøÇ¨¦ ¹. 4 ö\¾zuÂÀø». A¨£[SPøÍ ¹. 11 
GÚ ©ÖöÁÎ±k ö\´ux. SÔ¨÷£mk £vÄPøÍ 
u¸P. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the various types of accounting concepts. 

 PnUQ¯À ÷Põm£õmiß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

17. Following are the balances extracted from the books of 
Mr. Durai as on 31.03.2014. Prepare trading, profit and 
loss account for the year ended 31.03.2014 and a balance 
sheet as on the date. 
Particulars Dr.(Rs.) Cr.(Rs.) Particulars Dr.(Rs.)Cr.(Rs.)

Capital 1,00,000Salaries 5,000
Opening stock 20,000 Office rent 2,000
Machinery 40,000 Insurance 1,000
Purchases 70,000 Debtors 50,000
Purchases returns 1,000 Creditors 29,000
Sales 90,000 Cash 4,000
Sales returns 1,000 Bank balance 25,000
Wages 2,000    
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 Adjustments : 

 (a) Closing stock on 31.03.2014 Rs. 20,000 

 (b) Outstanding salaries Rs. 1,000 

 (c) Prepaid insurance Rs. 500 

 (d) Bad debts Rs. 1,000 

 (e) Provide 10% depreciation on machinery. 

 31.03.2014 AßÖ v¸. xøμ Gß£Á›ß HkPÎÀ ¤ßÁ¸® 
C¸¨¦PÍõÚx ö£Ó¨£mhx. 31.03.2014B® Bs÷hõk 
•iÁøh²® |õÐUS›¯ Â¯õ£õμ, C»õ£ |mhU 
PnUøP²®, C¸¨¦{ø»USÔ¨ø£²® u¯õº ö\´P. 

Â£μ[PÒ £ØÖ (¹.)ÁμÄ (¹.) Â£μ[PÒ £ØÖ (¹.)ÁμÄ (¹.)
•uÀ 1,00,000 \®£Í® 5,000
öuõhUP \μUQ¸¨¦ 20,000 A¾Á»P ÁõhøP 2,000
C¯¢vμ® 40,000 Põ¨¥k 1,000
öPõÒ•uÀ 70,000 PhÚõÎPÒ 50,000
öPõÒ•uÀ v¸¨£® 1,000PhÜ¢÷uõºPÒ 29,000
ÂØ£øÚ 90,000 öμõUP® 4,000
ÂØ£øÚ v¸¨£® 1,000 Á[Q C¸¨¦ 25,000
T¼ 2,000    

 \›PmkuÀPÒ : 

 (A) 31.03.2014 AßøÓ¯ CÖv \μUQ¸¨¦ ¹. 20,000 

 (B) öPõk£h ÷Ási¯ \®£Í® ¹. 1,000 

 (C) •ß Tmi ö\¾zv¯ Põ¨¥k ¹. 500 

 (D) ÁõμõUPhß ¹. 1,000 

 (E) C¯¢vμzvß «x 10% ÷u´©õÚ® E¸ÁõUSP. 

18. A sold goods to the value of Rs. 4,000 to B taking a bill at 
3 months therefor. A discounted the bill at 10% p.a. with 
his bank. On maturity, the bill was returned by the bank 
dishonoured with Rs. 10 as noting charges, B paid  
Rs. 1,000 and the noting charges and gave another bill at 
3 months for Rs. 3,000 and 10% interest but before 
maturity he had become bankrupt and ultimately paid to 
his creditors 80 paise in the rupee. Pass journal entries in 
the books of A and prepare B’s account in the ledger of A. 
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 A ¹. 4,000 ö£Ö©õÚ \μUSPøÍU B ÂØ£øÚ ö\´x 3 

©õu Esi¯ø» GkzxU öPõshõº. A A¢u Esi¯ø» 
Bsk JßÖUS 10 \uÃuzvÀ AÁ¸øh¯ Á[Q°À 
Ámh® ö\´uõº. •vºÂß ÷£õx, A¢u Esi¯À 

©ÖUP¨£mk v¸¨£¨£mhx SÔUøPU Pmhn® ¹. 10. B 
¹. 1,000 ©ØÖ® SÔUøPU PmhnzøuU öPõkzux ¹. 
3,000 ©ØÖ® 10 \uÃu ÁmiUS ÷ÁÖ J¸ Esi¯ø» 
‰ßÖ ©õu Põ»zvØSU öPõkzuõº. BÚõÀ •vºÄUS •ß 
AÁº ö|õi¨¦ {ø» Aøh¢uõº. Cuß Põμn©õP 
PhÜ¢÷uõ¸US ¹£õ´ JßÖUS 80 ø£\õ 

öPõkUP¨£mkÒÍx. A HmiÀ SÔ¨÷£mk¨ £vÄ u¢x A 
HmiÀ B PnUS u¯õ›UPÄ®. 

19. A, B and C are sharing the profits in the ratio of 3:2:1 
respectively on 31.12.2021 and balance sheet of the firm 
stood as follows : 

Liabilities Rs. Assets Rs. 

Sundry creditors 13,590 Cash 5,900

Capital : Debtors 8,000

Ananth 15,000 Stock 11,690

Babu 10,000 Building 23,000

Sundar 10,000  

 48,590  48,590

 ‘B’ retired on the above mentioned date : 

 (a) Buildings be appreciated by Rs. 7,000 

 (b) Provisions for bad debts be made at 5% on debtors 

 (c) Goodwill account of Rs. 9,000 of the firm create 

 (d) Rs. 5,000 be paid to ‘B’ immediately and the balance 
may be treated as loan. 

  Give necessary ledger account and show the new 
balance sheet. 
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 A, B ©ØÖ® C GßÓ ‰Á¸® 3:2:1 GßÓ ÂQuzvÀ 
C»õ£zøu ¤›zxU öPõÒQßÓÚº. 2021 i\®£º 31® 
|õøÍ¯ C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ.  

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

£Ø£» PhÜ¢÷uõº 13,590 öμõUP® 5,900

•uÀ : PhÚõÎPÒ 8,000

BÚ¢z 15,000 \μUQ¸¨¦ 11,690

£õ¦ 10,000 Pmih® 23,000

_¢uº 10,000  

 48,590  48,590

 ‘B’ ÷©÷» SÔ¨¤mh ÷uv°À Â»QÚõº. 

 (A) Pmih® ¹. 7,000 AvP›UP ÷Ásk®. 

 (B) I¯UPhß JxURk PhÚõÎPÒ «x 5% E¸ÁõUP 
÷Ásk®. 

 (C) |Øö£¯º ¹. 9,000 E¸ÁõUP ÷Ásk®. 

 (D) ¹. 5,000 ‘B’US EhÚi¯õP öPõkUP ÷Ásk® 
«vø¯ AÁ›ß PhÚõP öPõÒP. 

  ÷uøÁ¯õÚ ÷£÷μmkU PnUSPøÍ AÎzx ¦v¯ 
C¸¨¦ {ø»USÔ¨¦ ÁøμP. 

20. A Ltd invited applications for 1,00,000 shares of Rs. 100 
each at a discount of 5% payable as follows : 

 On application - Rs. 25; on allotment - Rs. 34; on first and 
final call - Rs. 36. Applications were received for 90,000 
shares and all of these were accepted. All moneys due 
were received except the first and final call on 1000 
shares which were forfeited. Of the forfeited shares, 500 
shares were reissued at the rate fo Rs. 90 as fully paid. 

 Show the necessary journal entries in the book of the 
company. 
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 A ¼ªöhm ¹. 100 ©v¨¦ÒÍ 1,00,000 £[SPøÍ 5% 
uÒÐ£i°À öÁÎ°h Âsn¨£[PÒ ÷Põμ¨£mhx. 
RÌPshÁõÖ ö\¾zu¨£mhx. 

 Âsn¨£zxhß – ¹. 25 JxURmkhß – ¹. 34 •uÀ 
©ØÖ® CÖv Aø©¨¦ – ¹. 36 90,000 £[SPÐUPõÚ 
Âsn¨£[PÒ ö£Ó¨£mhÚ. AøÚzx¨ £[SPÐ® HØÖU 
öPõÒÍ¨£mhx. 1000 £[SPÐUS •uÀ ©ØÖ® CÖv 
AøÇ¨¤ØPõÚ £nzøu uÂμ AøÚzx £[SPÐUPõÚ 
£n® AøÚzx® ö£Ó¨£mhx. A¢u¨ £[SPÒ 
JÖ¨¤Ç¨¦ ö\´¯¨£mhx. JÖ¨¤Ç¨¦ ö\´¯¨£mh 
£[SPÎÀ, 500 £[SPÒ ¹. 90 •ÊÁx® ö\¾zu¨£mh 
£[SPÍõP ©Ö öÁÎ±k ö\´¯¨£mhx. 

 {Ö©zvß HkPÎÀ ÷uøÁ¯õÚ SÔ¨÷£k £vÄPøÍ u¸P. 

 

 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(CA) DEGREE 
EXAMINATION, MAY 2025. 

Second Semester 

FINANCIAL MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is meant by financial management? 

 {v ÷©»õsø© £ØÔ AÔÁx GßÚ? 

2. What is responsibility accounting? 

 ö£õÖ¨¦ PnUQ¯À GßÓõÀ GßÚ? 

3. What is meant by composite cost of capital? 

 J¸[Qøn¢u ‰»uÚ AhUPÂø» £ØÔ AÔÁx GßÚ? 

4. What do you mean by EPS? 

 EPS £ØÔ }Âº AÔÁx GßÚ? 

5. What is capital rationing? 

 ‰»uÚ¨ £[Rk GßÓõÀ GßÚ? 

6. Define the term capital structure. 

 ‰»uÚ ÁiÁø©¨¦ GÝ® £uzøu Áøμ¯ÖUP. 
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7. What is meant by finance? 

 {v £ØÔ AÔÁx GßÚ? 

8. Define dividend. 

 £[Põuõ¯® Áøμ¯ÖUP. 

9. What do you understand by cash management? 

 öμõUP ÷©»õsø© £ØÔ }Âº AÔÁx GßÚ? 

10. What is credit policy? 

 Phß öPõÒøP GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Explain the scope of financial management. 

   {v ÷©»õsø©°ß Áøμö¯Àø»ø¯ ÂÍUSP. 

Or 

 (b) Define financial planning. State its objectives. 

   {v vmhzøu Áøμ¯ÖUP. AuÝøh¯ ÷|õUP[PøÍ 
TÖP. 

12.  (a) A company issues 10% irredeemable debentures of 
Rs.1,00,000. The company is in the 55% tax bracket. 
Calculate the cost f debt (before as well as after tax) 
if the debentures are issued at (i) par (ii) 10% 
discount and (iii) 10% premium. 

   J¸ {ÖÁÚ® ¹. 1,00,000US 10% «mP •i¯õu 
Phß £zvμ[PøÍ öÁÎ°kQÓx {ÖÁÚ® 55% Á› 
Áμ®¤À EÒÍx. PhÜmk £zvμ[PøÍ  
(i) •P©v¨¤À (ii) 10% uÒÐ£i°À ©ØÖ® (iii) 10% 
•øÚ©zvÀ öÁÎ°mhõÀ PhÝUPõÚ ö\»øÁ 
(Á›US •ß ©ØÖ® ¤ß) PnUQhÄ®. 

Or 
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 (b) Explain : (i) degree of operating leverage (ii) degree 
of financial leverage. 

   ÂÍUSP (i) ö\¯À£õmk ö|®¦÷PõÀ AÍÄ (ii) {v 
ö|®¦÷PõÀ AÍÄ. 

13.  (a) A firm has the following investment opportunities. 

Proposals Initial outlay Probability index

1 2,00,000 1.15 

2 1,25,000 1.13 

3 1,75,000 1.11 

4 1,50,000 0.08 

  The available funds are Rs. 3,00,000. Which 
proposal(s) the firm should accept? 

   J¸ {Ö©® ¤ßÁ¸® •u½mk Áõ´¨¦PøÍ 
ö£ØÖÒÍx. 

•ßö©õÈÄ öuõhUP ö\»Ä {PÌuPÄ SÔ±k

1 2,00,000 1.15 

2 1,25,000 1.13 

3 1,75,000 1.11 

4 1,50,000 0.08 
  C¸UPUTi¯ {v¯õÚx ¹. 3,00,000 BS®. G¢u 

•ßö©õÈøÁ {ÖÁÚ® HØÖU öPõÒÐ®. 

Or 

 (b) What are the characteristics of balanced capital 
structure? 

   \©{ø»°»õÚ ‰»uÚ ÁiÁø©¨¤ß 
Snõv]¯[PÒ ¯õøÁ? 

14.  (a) Narrate the sources and uses of short-term finance. 
   SÖQ¯ Põ» {vPÎß ÁÍ[PÒ ©ØÖ® £¯ß£õkPøÍ 

ÂÁ›UP. 

Or 
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 (b) Distinguish lease financing from hire purchase 
financing. 

   SzuøP {v°¼¸¢x ÁõhøP öPõÒ•uÀ {v°øÚ 
÷ÁÖ£kzxP. 

15.  (a) What are the main sources of working capital? 

   |øh•øÓ ‰»uÚzvß •UQ¯©õÚ ÁÍ[PÒ 
¯õøÁ? 

Or 

 (b) Write down the motives for holding cash. 

   £nzøu øÁzv¸¨£uØPõÚ ÷|õUP[PøÍ GÊxP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the different types of budget. 

 vmh¨£mi¯¼ß öÁÆ÷ÁÖ ÁøPPøÍ ÂÁõvUP. 

17. A firm has the following capital structure. From the 
following information you are required to compute the 
weighted average cost of capital. 

Sources of funds Amount
Rs. 

Proportion
% 

After tax cost
% 

Debt 15,00,000 25 5 

Preference shares 12,00,000 20 10 

Equity shares 18,00,000 30 12 

Retained earnings 15,00,000 25 11 

Total 60,00,000 100  
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 J¸ {ÖÁÚ® ¤ßÁ¸® ‰»uÚ Pmhø©¨ø£ 
öPõskÒÍx. ¤ßÁ¸® uPÁÀPÎ¼¸¢x Gøh°mh 
\μõ\› ‰»uÚ AhUPÂø»ø¯ }Ãº PnUQkP. 

 
{vPÎß Buõμ® 

öuõøP (¹.) ÂQu[PÒ % Á› ö\¾zv¯  
¤ßÚº EÒÍ ö\»Ä %

Phß 15,00,000 25 5 

•ßÝ›ø© £[SPÒ 12,00,000 20 10 

ö£õx{ø» £[SPÒ 18,00,000 30 12 

uUPøÁzu Á¸©õÚ® 15,00,000 25 11 

ö©õzu® 60,00,000 100  

18. Firms U and L are engaged in same line of activity and 
are identical in all respects except that firm U is 
unleveled and firm L is levered with Rs. 1,80,000, 
debentures carrying 10% rate of interest. Both the firms 
have income before interest and taxes of Rs. 60,000. The 
company’s tax rate is 50% and capitalization rate 15%. 
Computer the value of firm U and L using the net Income 
approach and MM approach. 

 {ÖÁÚ® U ©ØÖ® L BÚx J÷μ ©õv›¯õÚ ö\¯À£õmiÀ 
Dk£mkÒÍÚ ©ØÖ® GÀ»õ ÁøøP°¾® J÷μ 
©õv›¯õÚøÁ BS®. U {ÖÁÚ® ö|®¦÷Põ»ØÓx ©ØÖ® 
L {ÖÁÚ® ö|®¦÷Põ¾øh¯x ÷©¾® L {ÖÁÚ® BÚx 
¹. 1,80,000 PhÜmk £zvμ[PÒ, 10% Ámi Ãuzøu 
öPõskÒÍx. Ámi ©ØÖ® Á›PÐUS •¢øu¯ Cμsk 
{ÖÁÚ[PÎß Á¸©õÚ® ¹. 60,000 BS®. {ÖÁÚzvß 
Á› ÂQu® 50% ©ØÖ® ‰»uÚ ÂQu® 15% BS®. {Pμ 
Á¸©õÚ AqS•øÓ ©ØÖ® MM AqS•øÓø¯¨ 
£¯ß£kzv {ÖÁÚzvß U ©ØÖ® L Cß ©v¨ø£U 
PnUQkP. 

19. The following information relates to X Ltd., determine the 
market value of equity shares of a company as per 
Walter’s model. 

 Earnings of the company Rs. 5,00,000 

 Dividend paid Rs. 3,00,000 

 Number of shares outstanding - 1,00,000 
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 Price earnings ratio - 8 

 Rate of return on investment 15%. 

 Are you satisfied with the current dividend policy of the 
firm? If not, what should be the optimal dividend payout 
ratio in this case? 

 ¤ßÁ¸® uPÁÀPÍõÚx X ¼ªöhmiØS›¯x. ÁõÀhº 
©õv›°ß £i J¸ {Ö©zvß ö£õx{ø» £[SPÐUPõÚ 
\¢øu ©v¨ø£ PõsP. 

 {Ö©zvß Á¸Áõ´ ¹. 5,00,000 

 £[Põuõ¯® ö\¾zv¯x ¹. 3,00,000 

 {¾øÁ°¾ÒÍ £[SPÎß GsoUøP & 1,00,000 

 •u½kPÒ «uõÚ Á¸Áõ´ Ãu® & 15%  

 Âø» Á¸Áõ´ Ãu® & 8 

 {ÖÁÚzvß uØ÷£õøu¯ £[Põuõ¯ öPõÒøP°À }[PÒ 
v¸¨v¯øhQÓõºPÍõ? CÀø»ö¯ÛÀ C¢{ø»°À EP¢u 
£[Põuõ¯ ö\¾zxuÀ ÂQu® GßÚÁõP C¸UP ÷Ásk®? 

20. Enumerate the basic problems in cash management. 

 öμõUP ÷©»õsø©°¾ÒÍ Ai¨£øh ¤μa\øÚPøÍ 
PnUQkP. 

  

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define Human Resource Management. 

 ©Ûu ÁÍ ÷©»õsø©°ß ÁøμÂ»UPnzøu u¸P. 

2. Give the meaning of personnel management. 

 £o¯õÍº ÷©»õsø©°ß ö£õ¸øÍ u¸P. 

3. What is meant by selection? 

 ÷uº¢öukzuÀ GßÓõÀ GßÚ? 

4. What is job specification? 

 ÷Áø» ÂÁμUSÔ¨¦ GßÓõÀ GßÚ? 

5. What do you mean by induction? 

 yskuÀ Gß£uß ö£õ¸Ò ¯õx? 

6. What is meant by training? 

 £°Ø] £ØÔ AÔÁx GßÚ? 
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7. What do you mean by minimum wages? 

 SøÓ¢u£m\ Fv¯® £ØÔ AÔÁx GßÚ? 

8. What are incentives in HRM? 

 ©ÛuÁÍ ÷©»õsø©°ß \¾øPPÒ Gß£Ú ¯õøÁ? 

9. What is grievance handling? 

 SøÓPøÍ øP¯õÐuÀ GßÓõÀ GßÚ? 

10. What is employee empowerment? 

 £o¯õÍº AvPõμ©ÎzuÀ GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) What are the features of human resource 
management? 

   ©Ûu ÁÍ ÷©»õsø©°ß A®\[PÒ ¯õøÁ? 

Or 

 (b) What are the barriers of effective human resource 
planning? 

   £¯ÝÒÍ ©Ûu ÁÍz vmhªh¼ß uøhPÒ ¯õøÁ? 

12.  (a) What are the importance of job analysis? 

   ÷Áø» £S¨£õ´Âß •UQ¯zxÁ[PÒ ¯õøÁ? 

Or 

 (b) Briefly explain the various barriers in selection. 

   ÷uº¢öukzu¼ß EÒÍ £À÷ÁÖ uøhPøÍ _¸UP©õP 
ÂÍUSP. 
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13.  (a) What are the need for induction? 

   ysku¾UPõÚ ÷uøÁPÒ ¯õøÁ? 

Or 

 (b) Bring out the uses of performance appraisal. 

   ö\¯ÀvÓß ©v¨¥miß £¯ßPøÍ öÁÎUöPõnºP. 

14.  (a) What are the significance of wage and salary 
administration? 

   T¼ ©ØÖ® \®£Í {ºÁõPzvß •UQ¯zxÁ[PÒ 
¯õøÁ? 

Or 

 (b) Discuss the effective incentive system in detail. 

   £¯ÝÒÍ FUPöuõøP •øÓø¯ £ØÔ Â›ÁõP 
ÂÁõvUPÄ®. 

15.  (a) Explain about the employee counseling. 

   £o¯õÍº P¸zxøμ ÁÇ[PÀ £ØÔ ÂÍUSP. 

Or 

 (b) Briefly discuss the challenges in international 
human resource management. 

   \ºÁ÷u\ ©Ûu ÁÍ ÷©»õsø©°¾ÒÍ \ÁõÀPøÍ 
£ØÔ ÂÁõvUP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the various function of human resource 
management. 

 ©Ûu ÁÍ ÷©»õsø©°ß £À÷ÁÖ £oPøÍ ÂÍUSP. 

17. Describe the various types of recruitment. 

 £À÷ÁÖ ÁøP¯õÚ Bm÷\º¨¦PøÍ ÂÍUSP. 
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18. Explain the different methods of performance appraisal. 

 ö\¯ÀvÓß ©v¨¥miß öÁÆ÷ÁÖ •øÓPøÍ ÂÍUSP. 

19. Discuss the various methods of wage fixation. 

 Fv¯ {ºn¯zvß £À÷ÁÖ •øÓPøÍ ÂÁõvUP. 

20. Describe the importance of employee industrial relations. 

 £o¯õÍº öuõÈØxøÓ EÓÄPÎß •UQ¯zxÁzøu 
ÂÍUSP. 

 

 

  

———————— 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is market? 

 \¢øu GßÓõÀ GßÚ? 

2. Explain the term of SWOT analysis. 

 SWOT £S¨£õ´Ä GÝ® £uzøu ÂÍUSP. 

3. Define the term marketing mix. 

 \¢øu¨£kzxuÀ P»øÁø¯ Áøμ¯ÖUP. 

4. What do you mean by product life cycle? 

 ö£õ¸Ò B²Ò _ÇØ] £ØÔ }Ãº AÔÁx GßÚ? 

5. List out any four advantages of branding. 

 ÁoPSÔ±miß H÷uÝ® |õßS |ßø©PøÍ £mi¯¼kP. 

6. Define channel of distribution. 

 ÁÇ[PÀ ÁÈø¯ Áøμ¯ÖUP. 
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7. What do you mean by personal selling? 

 BÒ\õº ÂØ£øÚ £ØÔ }Ãº AÔÁx GßÚ? 

8. Define the term market segmentation. 

 \¢øu £S¨¦ GÝ® £uzøu Áøμ¯ÖUP. 

9. Write a note on consumer behaviour. 

 ~Pº÷Áõº |hzøu £ØÔ SÔ¨¦ ÁøμP. 

10. Explain the concept of service. 

 ÷\øÁ GÝ® P¸zøu ÂÍUSP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Distinguish between market and marketing. 

   \¢øu ©ØÖ® \¢øu°¯ø» ÷ÁÖ£kzxP. 

Or 

 (b) What are the importance of environmental analysis? 

   _ØÖa`ÇÀ £S¨£õ´Âß •UQ¯zxÁ[PÒ ¯õøÁ? 

12.  (a) Examine the components of traditional marketing 
mix. 

   £õμ®£›¯ \¢øu£kzxuÀ P»øÁ°ß TÖPøÍ 
Bμõ´P. 

Or 

 (b) What are the benefits of product life cycle? 

   ö£õ¸Ò B²Ò _ÇØ]°ß |ßø©PÒ ¯õøÁ? 

13.  (a) Bring out the importance of brand. 

   ÁoP SÔ±miß •UQ¯zxÁzøu u¸P. 

Or 
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 (b) Enumerate the factors influencing the choice of 
distribution channel. 

   Â{÷¯õP £[Rk ÷uºøÁ £õvUS® PõμoPøÍ 
£mi¯¼kP. 

14.  (a) What are the components of promotion mix? 

   FUSÂ¨¦ P»øÁ°ß TÖPÒ ¯õøÁ? 

Or 

 (b) Distinguish between advertising and salesmanship. 

   ÂÍ®£μ® ©ØÖ® ÂØ£õsø©ø¯ ÷ÁÖ£kzxP. 

15.  (a) Briefly discuss the various stages in the buying 
process. 

   Áõ[S® ö\¯À•øÓ°ß £À÷ÁÖ {ø»PøÍ 
_¸UP©õP ÂÁõvUP. 

Or 

 (b) How do you assess service quality? Explain. 

   ÷\øÁuμzøu G¨£i ©v¨¤kQÕºPÒ? ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the factors influencing modern marketing 
concept. 

 |ÃÚ \¢øu¨£kzuÀ P¸zøu £õvUS® PõμoPøÍ 
ÂÍUSP. 

17. Examine about factors influencing the product mix 
decision. 

 ö£õ¸Ò P»øÁ •iøÁ¨ £õvUS® PõμoPøÍ¨ £ØÔ 
Bμõ´P. 
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18. Explain the different methods of pricing. 

 Âø»°ku¼ß öÁÆ÷ÁÖ •øÓPøÍ ÂÍUSP. 

19. Explain the several process of personal selling. 

 BÒ\õº ÂØ£øÚ°ß £À÷ÁÖ £i{ø»PøÍ ÂÍUSP. 

20. Describe the advantages and disadvantages of  
E-marketing. 

 ªßÚq \¢øu¨£kzu¼ß |ßø©PÒ ©ØÖ® wø©PøÍ 
ÂÁ›UP. 

 

———————— 
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B.Com. DEGREE EXAMINATION, MAY 2025. 

Second Semester 

MERCANTILE LAW 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is mercantile law? 

 ÁºzuPa \mh® GßÓõÀ GßÚ? 

2. Define Contract. 

 J¨£¢uzøu Áøμ¯ÖUP. 

3. Who is principal? 

 •uÀÁº Gß£Áº ¯õº? 

4. What do you mean by sale? 

 ÂØ£øÚ GßÓõÀ GßÚ? 

5. Write a short note on “Partnership deed”. 

 ‘‘Tmhõsø© £zvμ®’’ £ØÔ J¸ ]Ö SÔ¨¦ GÊxP. 

6. State any four characteristics of a company. 

 J¸ {ÖÁÚzvß H÷uÝ® |õßS ]Ó¨¤¯À¦PøÍU TÖP. 
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7. List out the aim of competition Act, 2002. 

 ÷£õmi \mh® 2002ß C»US ¯õøÁ? 

8. Who is an occupier? 

 BUQμª¨£õÍº Gß£Áº ¯õº? 

9. What is digital signature? 

 Gs•øÓ øPö¯õ¨£® GßÓõÀ GßÚ? 

10. Write a short note on copy right. 

 £v¨¦›ø© £ØÔ ]Ö SÔ¨¦ GÊxP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Write short note on “Valid contract”. 

   ö\À¾£i¯õS® J¨£¢u® £ØÔ J¸ ]Ö SÔ¨¦ 
GÊxP. 

Or 

 (b) Indicate the features of Indian Contract Act, 1872. 

   C¢v¯ J¨£¢ua \mh®, 1872&ß C¯À¦PøÍU 
SÔ¨¤kP. 

12.  (a) What are the characteristics of negotiable 
instrument? 

   ©õØÖ•øÓ BÁnzvß ]Ó¨¤¯À¦PÒ ¯õøÁ? 

Or 

 (b) List out the essential elements of contract of sale. 

   ÂØ£øÚ J¨£¢uzvß Azv¯õÁ]¯ TÖPøÍ 
£mi¯¼kP. 
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13.  (a) What are the advantages of incorporation? 

   TmkÖÁõUPzvß |ßø©PÒ ¯õøÁ? 

Or 

 (b) State the rights of partners. 

   TmhõÎPÎß E›ø©PøÍU TÖP. 

14.  (a) Indicate the objectives of FEMA. 

   FEMA Âß ÷|õUP[PøÍU SÔ¨¤kP. 

Or 

 (b) Bring out the importance of competition Act. 

   ÷£õmia \mhzvß •UQ¯zxÁzøu öÁÎU 
öPõnºP. 

15.  (a) Write a short note on Electronic form. 

   ªßÚq ÁiÁ® £ØÔ J¸ ]Ö SÔ¨¦ GÊxP. 

Or 

 (b) State about reservation policy for micro, small, 
medium enterprises. 

   SÖ, ]Ö ©ØÖ® |kzuμ {ÖÁÚ[PÐUPõÚ 
ChJxURk öPõÒøP¨ £ØÔ TÖP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the sources of mercantile law. 

 ÁoPa \mhzvß ‰»[PøÍ ÂÍUSP. 

17. Describe the rights and duties of a buyer. 

 Áõ[S£Á›ß E›ø©PÒ ©ØÖ® Phø©PøÍ ÂÁ›UP. 

18. Elucidate the kinds of partners. 

 TmhõÎPÎß ÁøPPøÍ GkzxøμUP. 
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19. Discuss the salient features of competition Act. 

 ÷£õmia \mhzvß •UQ¯ C¯À¦PøÍ ÂÁõvUP. 

20. How to classify micro, small and medium enterprises? 
Explain. 

 SÖ, ]Ö ©ØÖ® |kzuμ {ÖÁÚ[PøÍ GÆÁõÖ 
ÁøP¨£kzxÁx? ÂÍUSP. 

 

 

  

———————— 
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DISTANCE EDUCATION 

B.Com./B.Com.(Lateral Entry) DEGREE EXAMINATION, 
MAY 2025. 

Third Semester 

E-COMMERCE 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define E-Commerce. 

 ªßÚq & ÁoPzøu Áøμ¯ÖUP. 

2. What are cookies? 

 SURPÒ Gß£Ú ¯õøÁ? 

3. Infer the term metadata. 

 ö©mhõ÷hmhõ GßÓ ö\õÀø» FQzx GÊxP. 

4. Define ISP. 

 ISPI Áøμ¯ÖUP. 

5. What do you mean by data warehouse? 

 uμÄU Qh[S £ØÔ }Ãº AÔÁx GßÚ? 

6. What is network security? 

 Áø»¨¤ßÚÀ £õxPõ¨¦ GßÓõÀ GßÚ? 

Sub. Code 
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7. What is meant by E-CRM? 

 E-CRM £ØÔ AÔÁx GßÚ? 

8. Define supply chain management. 

 AÎ¨¦ \[Q¼ ÷©»õsø©ø¯ Áøμ¯ÖUP. 

9. Give the meaning of WAP. 

 WAP Gß£uß ö£õ¸øÍ u¸P. 

10. What is meant by B2C website? 

 B2C Cøn¯uÍ® £ØÔ AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Distinguish between traditional commerce and E-
commerce. 

   £õμ®£›¯ ÁoP® ©ØÖ® ªßÚq ÁoPzøu 
÷ÁÖ£kzxP. 

Or 

 (b) Briefly explain the different types of E-commerce 
vendors. 

   £À÷ÁÖ ÁøP¯õÚ ªßÚÝ&ÁoP 
ÂØ£øÚ¯õÍºPøÍ _¸UP©õP ÂÍUPÄ®. 

12.  (a) Distinguish between Internet and WWW. 

   Cøn¯® ©ØÖ® WWW ø¯ ÷ÁÖ£kzxP. 

Or 

 (b) Explain the functioning of OSI layering internet 
protocols. 

   OSI AkUS Cøn¯ ö|Ô•øÓPÎß ö\¯À£õmøh 
ÂÍUPÄ®. 



D–8229 
  3

13.  (a) What are the differences between HTML and XML? 

   HTML ©ØÖ® XML Cøh÷¯ EÒÍ ÷ÁÖ£õkPÒ 
¯õøÁ? 

Or 

 (b) Bring out the different types of firewall. 

   £À÷ÁÖ ÁøP¯õÚ L£¯ºÁõø» öÁÎU öPõnºP. 

14.  (a) List out the benefits of electronic funds transfer. 

   ªßÚq {v £›©õØÓzvß |ßø©PøÍ £mi¯¼kP. 

Or 

 (b) What are the security issues related to wireless 
communication? 

   P®¤°À»õ uPÁÀöuõhº¦ öuõhº£õÚ £õxPõ¨¦ 
]UPÀPÒ ¯õøÁ? 

15.  (a) Bring out the goals of knowledge management. 

   AÔÄ ÷©»õsø©°ß C»USPøÍ öÁÎUöPõnºP. 

Or 

 (b) Distinguish between NEFT and RTGS. 

   NEFT ©ØÖ® RTGS ø¯ ÷ÁÖ£kzxP.   

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. State the advantages and disadvantages of e-commerce. 

 ªßÚq&ÁoPzvß |ßø©PÒ ©ØÖ® wø©PøÍU 
SÔ¨¤hÄ®. 

17. Explain the various steps to build home page. 

 •P¨¦¨ £UPzøu E¸ÁõUSÁuØPõÚ £À÷ÁÖ £iPøÍ 
ÂÍUSP. 
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18. Discuss the different online marketing strategies in  
E-commerce. 

 ªßÚq&ÁoPzv¾ÒÍ £À÷ÁÖ Cøn¯ÁÈ 
\¢øu°ku¼ß EzvPøÍ¨ £ØÔ ÂÁõvUP. 

19. Discuss the different components of supply chain 
management. 

 AÎ¨¦ \[Q¼ ÷©»õsø©°ß £À÷ÁÖ TÖPøÍ¨ £ØÔ 
ÂÁõvUP. 

20. Discuss the recent trends in making payments online 
system. 

 Cøn¯ ÁÈ°À £n® ö\¾zx® •øÓ°ß \«£zv¯ 
÷£õUSPøÍ¨ £ØÔ ÂÁõvUP. 

 

 

  

———————— 
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DISTANCE EDUCATION 

B.Com./B.Com.(Lateral Entry) DEGREE EXAMINATION, 
MAY 2025. 

Third Semester 

AUDITING 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is cost Audit? 

 AhUPÂø» uoUøP GßÓõÀ GßÚ? 

2. Write a note on Internet Audit. 

 AP uoUøP £ØÔ SÔ¨¦ GÊxP. 

3. Define - Audit sampling. 

 uoUøP ©õv›ø¯ Áøμ¯ÖUPÄ®. 

4. What do you mean by Statistical sampling? 

 ¦ÒÎÂÁμ ©õv›ø¯¨ £ØÔ }Ãº AÔÁx GßÚ? 

5. Write a short note on Secret Reserve. 

 CμP]¯U Põ¨¦ £ØÔ J¸ ]Ö SÔ¨¦ GÊxP. 

6. Define - Company Audit. 

 {Ö©z uoUøPø¯ Áøμ¯ÖUPÄ®. 

Sub. Code 
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7. State the meaning of Branch Audit. 

 QøÍ uoUøP°ß ö£õ¸øÍU SÔ¨¤hÄ®. 

8. How do you approach to EDP auditing? 

 EDP uoUøPø¯ }Ãº GÆÁõÖ AqSÃº? 

9. What is meant by investigation? 

 Â\õμøn £ØÔ }Ãº AÔÁx GßÚ? 

10. Write a short note on electronic auditing. 

 ªßÚq uoUøP £ØÔ J¸ ]Ö SÔ¨¦ GÊxP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) What are the features of auditing? 

   uoUøP°ß A®\[PÒ ¯õøÁ? 

Or 

 (b) State the limitations of internal control. 

   AP Pmk¨£õmiß SøÓPøÍU SÔ¨¤hÄ®. 

12.  (a) Explain the role of auditor. 

   J¸ uoUøP¯õÍ›ß £[PÎ¨ø£ ÂÍUSP. 

Or 

 (b) State the procedure for audit sampling. 

   uoUøP ©õv›UPõÚ |øh•øÓPøÍU SÔ¨¤hÄ®. 

13.  (a) What are the procedure for appointment of auditor? 

   uoUøP¯õÍøμ {¯ª¨£uØPõÚ |øh•øÓPÒ 
¯õøÁ? 

Or 
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 (b) Enumerate the maintenance of books and accounts 
of a company. 

   J¸ {Ö©zvß ¦zu[PÒ ©ØÖ® PnUSPøÍ 
£μõ©›¨£øu GkzxøμUP. 

14.  (a) Explain the various steps involved in issue of 
shares. 

   £[SPøÍ öÁÎ°kÁv¾ÒÍ £À÷ÁÖ £iPøÍ 
ÂÍUSP. 

Or 

 (b) List out the powers of cost auditor. 

   AhUPÂø» uoUøP¯õÍ›ß AvPõμ[PÒ ¯õøÁ? 

15.  (a) What are the qualities of good auditor? 

   J¸ |À» uoUøP¯õÍ›ß Snõv]¯[PÒ ¯õøÁ? 

Or 

 (b) What are the objectives of an investigation? 

   Â\õμøn°ß ÷|õUP[PÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. State the comparison between internal audit and 
independent financial audit. 

 EÒ uoUøP ©ØÖ® ußÛaø\¯õÚ {v uoUøP°ß 
J¨¥kPøÍU SÔ¨¤kP. 

17. Explain the different methods of audit sampling. 

 uoUøP ©õv›°ß öÁÆ÷ÁÖ •øÓPøÍ ÂÍUSP. 
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18. Explain the auditors, position regarding the valuation 
and verification of assets and liabilities. 

 ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PÎß ©v¨¥k ©ØÖ® 
\›£õº¨¦ öuõhº£õÚ uoUøP¯õÍºPÎß {ø»ø¯ 
ÂÍUSP. 

19. What are the advantages and disadvantages of 
continuous audit? 

 öuõhºa]¯õÚ uoUøP°ß |ßø©PÒ ©ØÖ® wø©PÒ 
¯õøÁ? 

20. State the role of an auditor on verification of reports. 

 AÔUøP°ß \›£õº¨¤À uoUøP¯õÍ›ß £[øPU 
SÔ¨¤kP. 

 

 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR 
B.Com./B.Com.(L.E.)/B.Com.(CA)/B.Com.(CA)(LE) DEGREE 

EXAMINATION, MAY 2025. 

Third Semester 

MERCHANT BANKING AND FINANCIAL SERVICES 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Who is a merchant banker? 

 J¸ ÁºzuP Á[Q¯õÍº Gß£Áº ¯õº? 

2. What is underwriting? 

 J¨¦Öv GßÓõÀ GßÚ? 

3. State the pattern of capital structure. 

 ‰»uÚU Pmhø©¨¤ß ÁiÁzøuU TÖP. 

4. What is meant by depository receipt? 

 øÁ¨¦zöuõøP μ^x £ØÔ AÔÁx GßÚ? 

5. What is “partly pay-out lease”? 

 ‘‘£Sv¯õP ö\¾zx® SzuøP’’ GßÓõÀ GßÚ? 

Sub. Code 
10233/12533/
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6. What do you mean by “Hire purchase finance”? 

 ‘‘ÁõhøP öPõÒ•uÀ {v’’ £ØÔ }Âº AÔÁx GßÚ? 

7. What is Credit Realisation? 

 Phß EnºuÀ GßÓõÀ GßÚ? 

8. What is venture capital? 

 xoPμ ‰»uÚ® GßÓõÀ GßÚ? 

9. What is Merger? 

 Cøn¨¦ GßÓõÀ GßÚ? 

10. Who is a discretionary portfolio manager? 

 Â¸¨£¨£i öuõS•u½k ÷©»õÍº Gß£Áº ¯õº? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) State the features of merchant banking. 

   ÁºzuP Á[Q°ß C¯À¦PøÍ TÖP. 

Or 

 (b) List out the functions of underwriting. 

   J¨¦Öv°ß £oPøÍ¨ £mi¯¼kP. 

12.  (a) What are Off-Shore mutual funds? 

   Ph÷»õμ £μì£μ {v Gß£Ú ¯õøÁ? 

Or 

 (b) Bring out the characteristics of financial services. 

   {v ÷\øÁPÎß ]Ó¨¤¯À¦PøÍ öÁÎU öPõnºP. 
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13.  (a) State the services rendered by lessor. 

   SzuøPuõμº ÁÇ[S® ÷\øÁPøÍU TÖP. 

Or 

 (b) Explain cross-border leasing. 

   GÀø» uõsi¯ SzuøPø¯ ÂÍUSP. 

14.  (a) Write a short note on “Green Mail”. 

   ‘‘£aø\ Ag\À’’ £ØÔ J¸ ]Ö SÔ¨¦ GÊxP. 

Or 

 (b) Bring out the techniques of portfolio evaluation. 

   öuõS•u½k ©v¨¥miß ~m£[PøÍ öÁÎU 
öPõnºP. 

15.  (a) Indicate the objectives of venture capital. 

   xoPμ ‰»uÚzvß ÷|õUP[PøÍU SÔ¨¤kP. 

Or 

 (b) State the features of factoring. 

   Põμo¯õUPzvß C¯À¦PøÍU TÖP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the detail the various functions performed by 
merchant bankers. 

 ÁºzuP Á[Q¯õÍºPÒ ö\´²® £À÷ÁÖ £oPøÍ Â›ÁõP 
ÂÁõvUP. 

17. Explain the working mechanism of an AMC. 

 J¸ AMC ß ö\¯À£õmk •øÓø¯ ÂÍUSP. 
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18. Enumerate the process of leasing. 

 SzuøP°ß ö\¯À•øÓø¯ GkzxøμUP. 

19. Discuss the major issues of mergers and acquisition. 

 Cøn¨¦ ©ØÖ® øP¯P¨£kzxu¼ß •UQ¯ ]UPÀPøÍ 
ÂÁõvUP. 

20. Explain the various stages of venture capital financing. 

 xoPμ ‰»uÚ {v¯Î¨¤ß £À÷ÁÖ {ø»PøÍ ÂÍUSP. 

 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(L.E)/ B.Com.(CA)/ 
B.Com.(CA)(L.E) DEGREE EXAMINATION, MAY 2025. 

Third Semester 

MANAGERIAL ECONOMICS 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is managerial economics? 

 ÷©»õsø© ö£õ¸Íõuõμ® GßÓõÀ GßÚ? 

2. What do you mean by demand? 

 ÷uøÁ £ØÔ }Ãº AÔÁx GßÚ? 

3. Give the meaning of consumer surplus. 

 ~Pº÷Áõº E£› Gß£uß ö£õ¸øÍz u¸P. 

4. What is factors of production? 

 EØ£zvU PõμoPÒ GßÓõÀ GßÚ? 

5. What do you mean by cost? 

 ö\»Ä £ØÔ }Âº AÔÁx GßÚ? 

6. What is meant by price regulation? 

 Âø» JÊ[S¨£kzxuÀ Gß£uß ö£õ¸Ò ¯õx? 

Sub. Code 
10234/12534/
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7. What is meant by perfect competition? 

 {øÓÄ¨÷£õmi £ØÔ }Ãº AÔÁx GßÚ? 

8. What is national income? 

 ÷u]¯ Á¸©õÚ® GßÓõÀ GßÚ? 

9. What is monetary policy? 

 £nUöPõÒøP GßÓõÀ GßÚ? 

10. What is meant by deflation? 

 £nÁõmh® £ØÔ AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) What are the importance of managerial economics? 

   ÷©»õsø© ö£õ¸Íõuõμzvß •UQ¯zxÁ[PÒ 
¯õøÁ? 

Or 

 (b) Why does the demand curve slope downwards? 
Explain. 

   ÷uøÁ ÁøÍÄ Hß RÌ÷|õUQ \õ´QÓx? ÂÍUSP. 

12.  (a) What are the determinants of demand for consumer 
products? 

   ~Pº÷Áõº ö£õ¸mPÐUPõÚ ÷uøÁø¯ {ºn°US® 
PμoPÒ ¯õøÁ? 

Or 

 (b) Explain the long run cost curves. 

   }sh Põ» ö\»Ä ÁøÍÄPøÍ ÂÍUSP. 
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13.  (a) What are the factors influencing the price of a 
commodity? 

   J¸ ö£õ¸ÎÝøh¯ Âø»ø¯ yshUTi¯ 
PõμoPÒ ¯õøÁ? 

Or 

 (b) Write a short note on Marris Growth Maximisation 
model. 

   ©õ›êß ÁÍºa] AvP£m\©õUPÀ ©õv› £ØÔ J¸ 
]Ö SÔ¨ø£ GÊxP. 

14.  (a) State the features of perfect competition. 
   {øÓÄ ÷£õmi°ß A®\[PøÍU SÔ¨¤hÄ®. 

Or 

 (b) Briefly explain the different models of Duopoly. 
   C¸Áº •ØÖø©°hÀ \¢øu°ß £À÷ÁÖ ©õv›PøÍ 

_¸UP©õP ÂÍUSP. 

15.  (a) List out the instruments of economic stability. 
   ö£õ¸Íõuõμ {ø»zußø©°ß P¸ÂPøÍ 

£mi¯¼kP. 

Or 

 (b) What is inflation? How it is controlled? 
   £nÃUP® GßÓõÀ GßÚ? AøÁ G¨£i 

Pmk¨£kzu¨£kQÓx? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. State and explain the law of demand. State its exceptions. 
 ÷uøÁ Âvø¯U TÔ AuÝøh¯ ÂvÂ»USPøÍ u¸P. 

17. Discuss the different techniques of demand forecasting. 
 ÷uøÁ •ßÚÔÂ¨¤ß £À÷ÁÖ ~m£[PøÍ¨ £ØÔ 

ÂÁõvUP. 
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18. Explain methods of measuring price elasticity of demand. 

 ÷uøÁ°ß Âø» ö|QÌa]zußø© AÍÂk® •øÓPøÍ 
ÂÍUSP. 

19. What is monopoly? How price is determined under it? 

 •ØÖ›ø© GßÓõÀ GßÚ? CvÀ Âø»¯õÚx G¨£i 
wº©ÛUP¨£kQÓx? 

20. What is fiscal policy? Explain the essentials of a good 
fiscal policy. 

 {vU öPõÒøP GßÓõÀ GßÚ? J¸ |À» {vU 
öPõÒøPUS›¯ Azv¯õÁ]¯[PøÍ ÂÍUSP. 

 

 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(L.E)/ B.Com.(CA)/ 
B.Com.(CA)(L.E) DEGREE EXAMINATION, MAY 2025. 

Fourth Semester 

INSURANCE MANAGEMENT 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Write the meaning of risk management. 

 Chº ÷©»õsø©°ß Gß£uß ö£õ¸øÍ GÊxP. 

2. What is insurance? 

 Põ¨¥k GßÓõÀ GßÚ? 

3. Write a short note on general insurance. 

 ö£õx Põ¨¥k £ØÔ ]Ö SÔ¨¦ GÊxP. 

4. What are the benefits of marine insurance? 

 PhÀ Põ¨¥miß |ßø©PÒ ¯õøÁ? 

5. What is insurance claim? 

 Põ¨¥mk ÷Põ›UøP GßÓõÀ GßÚ? 

6. What is insurance premium? 

 Põ¨¥mk uÁøn GßÓõÀ GßÚ? 

Sub. Code 
10241/12541/
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7. What do you mean by insurance company? 

 Põ¨¥mk {ÖÁÚ® GßÓõÀ GßÚ? 

8. What is insurance ombudsman scheme? 

 Á[QU SøÓwº¨£õÍº vmh® GßÓõÀ GßÚ? 

9. Write the meaning of causa proxima. 

 EhÚiU Põμn® (Põ\ ¨μõUê©õ) Gß£uß Aºzuzøu 
GÊxP. 

10. Write the short note on Reinsurance. 

 ©ÖPõ¨¥k £ØÔ¯ ]Ö SÔ¨ø£ SÔ¨¤hÄ®. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Write the significance of risk management. 

   Chº ÷©»õsø©°ß •UQ¯zxÁzøu GÊxP. 

Or 

 (b) Explain the importance of insurance. 

   Põ¨¥miß •UQ¯zxÁzøu ÂÍUSP. 

12.  (a) State about critical aspects of aviation industry in 
the country. 

   |õmiÀ Â©õÚ¨ ÷£õUSÁμzxz xøÓ°ß 
•UQ¯©õÚ B£zx A®\[PÒ £ØÔ ÂÁõvUP.  

Or 

 (b) What are the rules and regulations of IRDA? 

   IRDA Cß ÂvPÒ ©ØÖ® Âv•øÓPÒ ¯õøÁ? 
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13.  (a) Write the role of riders in insurance policy. 

   Põ¨¥k vmhzvÀ EÒÍ xøn {μÀ (Riders) 
{μÀPÎß £[QøÚ GÊxP. 

Or 

 (b) Mention the elements of marine insurance contract. 
   PhÀ Põ¨¥mk J¨£¢uzvß TÖPøÍ SÔ¨¤kP. 

14.  (a) What are the modes used by the insurance 
companies in channelizing their funds? 

   Põ¨¥mk {ÖÁÚ[PÒ u[PÒ {vPøÍ JxURk 
ö\´ÁvÀ GßÚ •øÓPøÍ¨ 
£¯ß£kzu¨£kQßÓÚ? 

Or 

 (b) Explain about the importance of financial 
management in insurance companies. 

   Põ¨¥mk {ÖÁÚ[PÎÀ {v {ºÁõPzvß 
•UQ¯zxÁ® £ØÔ ÂÍUSP. 

15.  (a) Explain about growth of reinsurance in the 
insurance sector. 

   Põ¨¥mkz xøÓ°À ©ÖPõ¨¥k ÁÍºa] £ØÔ 
ÂÍUSP. 

Or 

 (b) Write the meaning of health insurance and writes 
its benefits. 

   ©¸zxÁ Põ¨¥miß ö£õ¸Ò ©ØÖ® Auß £»ßPøÍ 
GÊxP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss about various reforms in Indian insurance 
industry. 

 C¢v¯ Põ¨¥mk xøÓ°À £À÷ÁÖ ^ºv¸zu[PÒ £ØÔ 
ÂÁ›. 



D–8233 
  4

17. Explain the various kinds of life policies. 

 £À÷ÁÖ ÁøP¯õÚ B²Ò Põ¨¥kPøÍ¨ £ØÔ ÂÍUSP. 

18. Narrate the various types of motor insurance policies. 

 £À÷ÁÖ ÁøP¯õÚ ÁõPÚ Põ¨¥kPøÍ ÂÁ›. 

19. Elucidate application of information technology in the 
insurance sector. 

 Põ¨¥mkz xøÓ°À uPÁÀ öuõÈÀ~m£zvß £¯ß£õmøh 
öuÎÄ£kzx[PÒ. 

20. Explain about the role of insurance companies in 
insurance security. 

 Põ¨¥mk £õxPõ¨¤À Põ¨¥mk {ÖÁÚ[PÎß £[S £ØÔ 
ÂÍUSP. 

 

 

  

———————— 
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DISTANCE EDUCATION 

COMMON FOR B.Com./B.Com.(L.E)/ B.Com.(CA)/ 
B.Com.(CA)(L.E) DEGREE EXAMINATION, MAY 2025. 

Fourth Semester 

BUSINESS STATISTICS 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. State any two importances of statistics in modern 
business environment. 

 |ÃÚ ÁoPa `Ç¼À ¦ÒÎÂÁμ[PÎß Cμsk 
•UQ¯zxÁzøuU SÔ¨¤kP. 

2. Define probability. 

 {PÌuPÄ & Áøμ¯Ö. 

3. What is a Bernoulli distribution? 

 ö£º÷Úõ¼ Â{÷¯õP® GßÓõÀ GßÚ? 

4. Define Poisson distribution. 

 £õ´\ß Â{÷¯õPzøu Áøμ¯Ö. 

5. Define point estimate and interval estimate. 

 ¦ÒÎ ©v¨¥k ©ØÖ® CøhöÁÎ ©v¨¥møh 
Áøμ¯ÖUPÄ®. 

Sub. Code 
10242/12542/
12342/12842/
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6. Define type I and type II errors in hypothesis testing. 

 P¸x÷PõÒ ÷\õuøÚ°À ÁøP I ©ØÖ® ÁøP II ¤øÇPøÍ 
Áøμ¯ÖUPÄ®. 

7. What is a scatter diagram? 

 ]uÓÀ Áøμ£h® GßÓõÀ GßÚ? 

8. List the steps involved in forecasting. 

 •ßÚÔÂ¨¤À EÒÍ £iPøÍ¨ £mi¯¼k[PÒ. 

9. Define exponential smoothing in the context of 
forecasting. 

 •ßÚÔÂ¨¤ß `Ç¼À Av÷ÁP ö©ßø©¯õUPzøu 
Áøμ¯Ö. 

10. What are the components of a time series? 

 ÷|μz öuõh›ß TÖPÒ ¯õøÁ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Given the following set of numbers, find the mean, 
median, and mode : 6,8,12,8,10,14,8,16,18. 

   ¤ßÁ¸® GsPÎß öuõS¨¤À, \μõ\›, Cøh{ø» 
©ØÖ® £¯ß•øÓø¯U PshÔP. 
6,8,12,8,10,14,8,16,18. 

Or 

 (b) Explain Bayes’ Theorem and its significance in 
probability. 

   ÷£´ì ÷uØÓ® ©ØÖ® {PÌuPÂÀ Auß 
•UQ¯zxÁzøu ÂÍUSP. 
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12.  (a) A factory produces light bulbs, and it is known that 
2% of all bulbs produced are defective. If a random 
sample of 10 bulbs is selected, what is the 
probability that exactly 2 bulbs are defective? 

   J¸ öuõÈØ\õø» JÎ ÂÍUSPøÍ EØ£zv 
ö\´QÓx, ÷©¾® EØ£zv ö\´¯¨£k® AøÚzx 
£À¦PÎ¾® 2% SøÓ£õkÒÍøÁ GßÖ 
AÔ¯¨£kQÓx. 10 £À¦PÎß ^μØÓ ©õv› 
÷uº¢öukUP¨£mhõÀ, \›¯õP 2 £À¦PÒ 
SøÓ£õkøh¯ {PÌuPÄ GßÚ? 

Or 

 (b) In a class of 30 students, 18 are boys and 12 are 
girls. If a student is selected at random, what is the 
probability that the student is either a girl or has 
brown hair? Assume 10 boys and 5 girls have brown 
hair. 

   30 ©õnÁºPøÍU öPõsh ÁS¨¤À, 18 ]ÖÁºPÒ 
©ØÖ® 12 ö£sPÒ. J¸ ©õnÁß uØö\¯»õPz 
÷uº¢öukUP¨£mhõÀ, A¢u ©õnÁº ö£snõP 
C¸¨£uØPõÚ {PÌuPÄ GßÚ? 10 ]ÖÁPºPÒ ©ØÖ® 
5 ]ÖªPÐUS £Ê¨¦ {Ó •i C¸¨£uõP 
øÁzxUöPõÒ÷Áõ®. 

13.  (a) What are the conditions for applying the chi-square 
test? 

   ]&\xμ ÷\õuøÚø¯¨ £¯ß£kzxÁuØPõÚ 
{£¢uøÚPÒ GßÚ? 

Or 

 (b) Explain the objectives of conducting an ANOVA 
test. 

   ANOVA ÷\õuøÚø¯ |hzxÁuß ÷|õUP[PøÍ¨ 
£ØÔ ÂÍUSP. 



D–8234 
  4

14.  (a) Given the following data on two variables X and Y. 
X 10 20 30 40 50
Y 12 22 28 35 45

  Calculate Karl Pearson’s correlation coefficient 
between X and Y. 

   X ©ØÖ® Y BQ¯ Cμsk ©õÔPÎÀ ¤ßÁ¸® uμÄ 
öPõkUP¨£mkÒÍx. 

X 10 20 30 40 50
Y 12 22 28 35 45

  X ©ØÖ® YUS Cøh°À PõºÀ ¤¯º\Ûß öuõhº¦ 
SnPzøuU PnUQkP. 

Or 

 (b) What are the methods of business forecasting? 
   ÁoP •ßPo¨¦ •øÓPÒ GßÚ? 

15.  (a) Explain the regression analysis method used in time 
series forecasting with an example. 

   ÷|μz öuõhº •ßPo¨¦ £¯ß£kzu¨£k® 
¤ßÚøhÄ £S¨£õ´Ä •øÓø¯ J¸ 
GkzxUPõmkhß ÂÍUSP. 

Or 

 (b) Explain the steps involved in the construction of 
index numbers. 

   SÔ±mk GsPøÍ E¸ÁõUSÁvÀ EÒÍ 
£i{ø»PøÍ ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Determine the quartile deviation for the following 
dataset. 7, 9, 10, 12, 15, 18, 22. 

 ¤ßÁ¸® uμÄzöuõS¨¦UPõÚ Põ»õsk Â»Pø»z 
wº©õÛ 7, 9, 10, 12, 15, 18, 22. 
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17. A survey is conducted to determine if there is an  
association between gender (male, female) and preference 
for a new product (like, dislike). The following data is 
obtained: 

 Like Dislike Total

Male 30 20 50 

Female 40 10 50 

Total 70 30 100 

 Conduct a chi-square test for independent at a 5% 
significance level. 

 £õ¼Ú® (Bs, ö£s) ©ØÖ® J¸ ¦v¯ u¯õ›¨¦UPõÚ 
Â¸¨£® (÷£õßÓ, ¤iUPõux) BQ¯ÁØÖUS Cøh÷¯ 
öuõhº¦ EÒÍuõ Gß£øu wº©õÛUP J¸ PnUöPk¨¦ 
|hzu¨£kQÓx. ¤ßÁ¸® uμÄ ö£Ó¨£mhx. 

 Like Dislike ö©õzu®

Bs 30 20 50 

ö£s 40 10 50 

ö©õzu® 70 30 100 

 ]&\xμ ÷\õuøÚø¯ 5% •UQ¯zxÁ® {ø»°À PnUQkP. 

18. Explain the steps involved in solving probability problems 
with a detailed example. 

 {PÌuPÄ ]UPÀ»PøÍz wº¨£vÀ EÒÍ £iPøÍ Â›ÁõÚ 
Euõμnzxhß ÂÍUS[PÒ £s¦PøÍ ÂÁ›. 

19. Discuss the  differences between regression analysis and 
correlation analysis. 

 ¤ßÚøhÄ £S¨£õ´Ä ©ØÖ® öuõhº¦ £S¨£õ´Ä 
Cøh÷¯ EÒÍ ÷ÁÖ£õkPøÍ¨ £ØÔ ÂÁõvUPÄ®. 
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20. Given the following price data, calculate the unweighted 
index number for the current year using the base yea. 

 Base year prices : 

 • Product A : Rs. 5 

 • Product B : Rs. 10 

 • Product C : Rs. 15 

 Current year prices : 

 • Product A : Rs. 6 

 • Product B : Rs. 12 

 • Product C : Rs. 18   

 ¤ßÁ¸® Âø»z uμÂß Ai¨£øh°À, Ai¨£øh 
Bsøh¨ £¯ß£kzv |h¨¦ BsiØPõÚ PnUQh¨£hõu 
SÔ±mk GsønU PnUQkP. 

 Ai¨£øh Bsk Âø»PÒ : 

 • u¯õ›¨¦ A : ¹. 5 

 • u¯õ›¨¦ B : ¹. 10 

 • u¯õ›¨¦ C : ¹. 15 

 |h¨¦ Bsk Âø»PÒ : 

 • u¯õ›¨¦ A : ¹. 6 

 • u¯õ›¨¦ B : ¹. 12 

 • u¯õ›¨¦ C : ¹. 18 

  

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is the definition of office management? 

 A¾Á»P {ºÁõPzvß Áøμ¯øÓ GßÚ? 

2. Identify two key functions of an office. 

 J¸ A¾Á»Pzvß Cμsk •UQ¯ ö\¯À£õkPøÍ 
Aøh¯õÍ® PõsP. 

3. Mention the two primary types of office layouts. 

 A¾Á»P Aø©¨¦PÎß Cμsk •ußø© ÁøPPøÍU 
SÔ¨¤kP. 

4. Explain the importance of ventilation in an office 
environment. 

 A¾Á»P `Ç¼À PõØ÷Óõmhzvß •UQ¯zxÁzøu 
Áøμ¯ÖUPÄ®. 

5. Describe any two features of a well-designed form. 

 |ßS ÁiÁø©UP¨£mh ÁiÁzvß H÷uÝ® Cμsk 
A®\[PøÍ ÂÁ›UPÄ®. 

Sub. Code 
10243/12543/
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6. State the uses of a filing system to improve record-
keeping efficiency in an office. 

 J¸ A¾Á»PzvÀ £vÄö\´²® vÓøÚ ÷©®£kzu J¸ 
uõUPÀ •øÓ°ß £¯ß£õkPøÍU SÔ¨¤kP. 

7. Interpret the importance of follow principles governing 
records management. 

 £vÄPÒ {ºÁõPzøu {ºÁQUS® öPõÒøPPøÍ¨ 
¤ß£ØÖÁuß •UQ¯zxÁzøu ÂÁ›UPÄ®. 

8. Infer the role of the communication loop in ensuring 
effective communication. 

 £¯ÝÒÍ uPÁÀ öuõhº¦PøÍ EÖv ö\´ÁvÀ uPÁÀ 
öuõhº¦ ÁøÍ¯zvß £[øP ÂÍUSP. 

9. How can technological advancements improve business 
communication in an office setting? 

 öuõÈÀ~m£ •ß÷ÚØÓ[PÒ J¸ A¾Á»P Aø©¨¤À 
ÁoPzöuõhºø£ GÆÁõÖ ÷©®£kzu»õ®? 

10. Why is it crucial for office management to control costs? 

 A¾Á»P {ºÁõPzvØS ö\»ÄPøÍU Pmk¨£kzxÁx Hß 
•UQ¯®? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Explain how office automation can enhance office 
operations. 

   A¾Á»P uõÛ¯[Q GÆÁõÖ A¾Á»P 
ö\¯À£õkPøÍ ÷©®£kzx® Gß£øu ÂÍUSP. 

Or 

 (b) Discuss the role of an office manager in organizing 
an office. 

   J¸ A¾Á»Pzøu JÊ[Pø©¨£vÀ A¾Á»P 
÷©»õÍ›ß £[øP¨ £ØÔ ÂÁõvUPÄ®. 
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12.  (a) Describe the key factors to consider when choosing a 
location for an office. 

   J¸ A¾Á»PzvØS J¸ Chzøu ÷uº¢öukUS® 
÷£õx P¸zvÀöPõÒÍ ÷Ási¯ •UQ¯ PõμoPøÍ 
SÔ¨¤kP. 

Or 

 (b) Illustrate how different types of office layouts can 
affect office work and employee collaboration. 

   £À÷ÁÖ ÁøP¯õÚ A¾Á»P uÍÁø©¨¦PÒ 
A¾Á»P ÷Áø» ©ØÖ® £o¯õÍº JzxøÇ¨ø£ 
GÆÁõÖ £õvUS® Gß£øu SÔ¨¤hÄ®. 

13.  (a) Interpret the importance of forms control in an 
office. 

   J¸ A¾Á»PzvÀ £iÁUPmk¨£õmiß 
•UQ¯zxÁzøu Áøμ¯ÖUPÄ®. 

Or 

 (b) Compare the advantages of using typewriters 
versus word processors for office correspondence. 

   A¾Á»P Piu¨ £›©õØÓzvØS umha_¨ 
ö£õÔPøÍ²® ö\õÀö\¯¼PøÍ²® £¯ß£kzxÁuß 
|ßø©PøÍ J¨¤mk SÔ¨¤kP. 

14.  (a) Assess the impact of audio transcription on the 
efficiency of office documentation processes. 

   A¾Á»P BÁn¨£kzuÀ ö\¯À•øÓPÎß 
ö\¯ÀvÓÛÀ Bi÷¯õ iμõßìQ›¨åÛß uõUPzøu 
©v¨¥k ö\´²[PÒ. 

Or 

 (b) Describe the process of communication and how 
understanding this process can enhance 
communication in an office. 

   uPÁÀ öuõhº¦ ö\¯À •øÓø¯²®, C¢u 
ö\¯À•øÓø¯¨ ¦›¢xöPõÒÁx J¸ A¾Á»PzvÀ 
uPÁÀöuõhº¦PøÍ GÆÁõÖ ÷©®£kzx® 
Gß£øu²® ÂÁ›UPÄ®. 
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15.  (a) State the impact of office reports on decision-making 
processes in a business. 

   J¸ ÁoPzvÀ •iöÁkUS® ö\¯À•øÓPÎÀ 
A¾Á»P AÔUøPPÎß uõUPzøu SÔ¨¤hÄ®. 

Or 

 (b) Infer how an office can effectively sort its incoming 
mail. 

   J¸ A¾Á»P® Auß EÒÁ¸® Ag\ÀPøÍ GÆÁõÖ 
vÓ®£h Á›ø\¨£kzu •i²® Gß£øuU 
PshÔ¯Ä®. 

SECTION C — (3 × 10 = 30 marks) 
Answer any THREE questions. 

16. Evaluate the importance of office management in 
achieving the objectives of business enterprise. 

 ÁoP {ÖÁÚ[PÎß SÔU÷PõÒPøÍ AøhÁvÀ 
A¾ÁÁ»P {ºÁõPzvß •UQ¯zxÁzøøu ©v¨¥k 
ö\´²[PÒ. 

17. Assess the benefits of implementing a well-designed office 
manual in an organization. 

 J¸ {ÖÁÚzvÀ |ßS ÁiÁø©UP¨£mh A¾Á»P 
øP÷¯møh ö\¯À£kzxÁuß |ßø©PøÍ ÂÁ›UPÄ®. 

18. Discuss the various factors that influence the choice of an 
office building. 

 A¾Á»PU Pmihzøuz ÷uº¢öuk¨£vÀ ö\ÀÁõUS 
ö\¾zx® £À÷ÁÖ  PõμoPøÍ¨ £ØÔ ÂÁõvUPÄ®. 

19. Explain the principles governing records management. 
 £vÄPÒ ÷©»õsø©ø¯ {ºÁQUS® öPõÒøPPøÍ 

ÂÍUSP. 

20. Describe the benefits and drawbacks of different office 
machines and equipment in terms of efficiency and 
productivity. 

 ö\¯ÀvÓß ©ØÖ® EØ£zvzvÓß Ai¨£øh°À £À÷ÁÖ 
A¾Á»P C¯¢vμ[PÒ ©ØÖ® E£Pμn[PÎß |ßø©PÒ 
©ØÖ® SøÓ£õkPøÍ ÂÁ›UPÄ®. 

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Give any two functions of management accounting. 

 ÷©»õsø© PnUQ¯¼ß H÷uÝ® Cμsk 
ö\¯À£õkPøÍU SÔ¨¤hÄ®. 

2. Write a note on standard costing. 

 {ø»¯õÚ ö\»Ä £ØÔ J¸ SÔ¨ø£ GÊx[PÒ. 

3. Define break even analysis. 

 ¤÷μU DÁß £S¨£õ´øÁ Áøμ¯ÖUPÄ®. 

4. Interpret on trend analysis. 

 ÷£õUS £S¨£õ´Ä £ØÔ ÂÍUS[PÒ. 

5. Bring out the significance of ratio analysis. 

 ÂQu £S¨£õ´Âß •UQ¯zxÁzøu öÁÎ¨£kzxP. 

Sub. Code 
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6. Explain the uses of a fund flow statement. 

 {v Kmh® AÔUøP°ß £¯ß£õkPøÍ ÂÍUSP. 

7. What is cash flow statement? 

 £n¨£õ´Ä AÔUøP GßÓõÀ GßÚ? 

8. Describe the schedule of changes in working capital. 

 ö\¯À£õmk ‰»uÚzvÀ ©õØÓ[PÎß AmhÁønø¯ 
ÂÁ›UPÄ®. 

9. Infer on capital rating. 

 ‰»uÚ ÷μåÛ[ £ØÔ SÔ¨¤hÄ®. 

10. Discuss the role of inflation accounting. 

 £nÃUPU PnUQ¯¼ß £[S £ØÔ ÂÁõvUPÄ®. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Prepare a manufacturing overhead budget from the 
following data : Budgeted output for the quarter 
ending 31.3.99 is 500 units. Budgeted fixed 
overheads apportioned to the division Rs. 48,000 for 
the year 1999. Variable overhead is estimated to be 
Rs. 80,000 for an annual output of 8,000 units. Semi 
variable overhead estimated for the year is  
Rs. 30,000 (40% fixed and 60% variable). 

   ¤ßÁ¸® uμÄPÎ¼¸¢x EØ£zv ÷©À{ø» ÁμÄ 
ö\»Äzvmhzøuz u¯õ›UPÄ®. 31.3.99 Ehß 
•iÁøh¢u Põ»õsiÀ £möám öÁÎ±k 500 
³ÛmkPÒ BS®. 1999 B® BsiØPõÚ ¹. 48,000 
¤›ÄUS JxUP¨£mh ÁμÄ ö\»Ä vmh {ø»¯õÚ 
ö\»ÄPÒ. ©õÖ£k® ÷©À{ø» ©v¨¥k ¹. 8,000 
³ÛmkPÎß Á¸hõ¢vμ EØ£zvUS 80,000. C¢u 
BsiØPõÚ Aøμ ©õÖ£k® ÷©À{ø» ©v¨¥k  
¹. 30,000 (40% {ø»¯õÚ ©ØÖ® 60% ©õÖ£k®). 

 Or 
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 (b) Interpret the types of variances. 

   ©õÖ£õkPÎß ÁøPPøÍ ÂÍUSP. 

12.  (a) From the following information you are require to 
find out P/V Ratio, BEP, Profit, MOS and Volume of 
sales to earn profit of Rs. 6000 

  Total fixed cost Rs. 4,500 

  Total variable cost Rs. 7,500 

  Total sales Rs. 15,000. 

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x }[PÒ P/V ÂQu®. BEP, 
»õ£®, MOS ©ØÖ® ÂØ£øÚ°ß AÍÄ 
BQ¯ÁØøÓU PshÔ¢x C»õ£® Dmh ÂØ£øÚ 
AÍÄ ¹. 6000 ÁÇ[P¨£mkÒÍx. 

  ö©õzu {ø»¯õÚ ö\»Ä ¹. 4,500 

  ö©õzu ©õÖ£õk ö\»Ä ¹. 7,500 

  ö©õzu ÂØ£øÚ ¹. 15,000. 

Or 

 (b) Calculate the trend percentages for the following, 
with the year 1998 as base year. 

Particulars 1998 1999 2000 2001 2002 2003 

Inventories (Rs.) 40,000 65,000 90,000 70,000 60,000 68,000

   1998B® Bsøh Ai¨£øh BshõPU öPõsk 
¤ßÁ¸ÁÚÁØÔß ÷£õUS \uÃu[PøÍU 
PnUQk[PÒ. 

ÂÁμ[PÒ 1998 1999 2000 2001 2002 2003 

\μUSPÒ (¹.) 40,000 65,000 90,000 70,000 60,000 68,000

13.  (a) From the following details you are required to 
ascertain net profit and calculate net profit ratio. 

Particulars Rs. 

Sales 5,40,000

Sales returns 40,000
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Gross profit 3,00,000

Income from investments 40,000

Loss on sale of plant 30,000

Operating expenses 1,20,000

Provision for tax 50,000

   ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x }[PÒ {Pμ»õ£zøuU 
PshÔ¢x {PμC»õ£ ÂQuzøuU PnUQh ÷Ásk®. 

ÂÁμ[PÒ ¹. 
ÂØ£øÚ 5,40,000
ÂØ£øÚÁ¸Áõ´ 40,000
ö©õzu»õ£® 3,00,000
•u½kPÒ ‰»® Á¸©õÚ® 40,000
Bø» ÂØ£øÚ CÇ¨¦ 30,000
C¯UP ö\»ÄPÒ 1,20,000
Á›Âv¨¦UPõÚ HØ£õk 50,000

Or 

 (b) State, the effect on working capital caused by the 
following : 

  (i) Increase in cash Rs. 1,700 

  (ii) Increase in stock Rs. 1,600 

  (iii) Decrease in debtors Rs. 500 

  (iv) Decrease in creditors Rs. 2,500. 

   ¤ßÁ¸ÁÚÁØÔß Põμn©õP ö\¯À£õmk 
‰»uÚzvÀ HØ£k® ÂøÍøÁU SÔ¨¤kP. 

  (i) £n AvP›¨¦ ¹. 1,700 

  (ii) £[S E¯ºÄ ¹. 1,600 

  (iii) PhÚõÎPÒ SøÓ¨¦ ¹. 500 

  (iv) Phß ÁÇ[S÷Áõ›ß GsoUøP SøÓ¢x  
¹. 2,500 
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14. (a) From the following information relating to Bright 
Ltd., calculate funds lost in operation. 

Particulars Rs. 

Net loss for the year 90,000

Dividend received 7,000

Depreciation charged 10,000

Profit on sale of assets 5,000

Refund of tax  2,000

   ¤øμm ¼ªöhm öuõhº£õÚ ¤ßÁ¸® 
uPÁÀPÎ¼¸¢x, ö\¯À£õmiÀ CÇ¢u {vø¯U 
PnUQk[PÒ. 

ÂÁμ[PÒ ¹. 

Bsk {PμCÇ¨¦ 90,000

DÄzöuõøP ö£Ó¨£mhx 7,000

÷u´©õÚ® Á`¼UP¨£kQÓx 10,000

ö\õzxUPøÍ ÂØ£øÚ ö\´Áuß ‰»® QøhUS® »õ£® 5,000

Á› v¸¨¤a ö\¾zxuÀ 2,000

Or 

 (b) Computer cash from operations from the following : 

Particulars Rs. 

Net profit of the year 2006-07 80,000

Depreciation written off on fixed assets 11,000

Profit on sale of building 22,000

Loss on sale of machine 13,000

Increase in current assets (except cash) 46,000

Increase in current liabilities 29,000
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   ¤ßÁ¸® ö\¯À£õkPÎ¼¸¢x £nzøuU 
PnUQk[PÒ. 

ÂÁμ[PÒ ¹. 

2006&07 BsiØPõÚ {Pμ C»õ£® 80,000

{ø»¯õÚ ö\õzxUPÎÀ ÷u´©õÚ® uÒÐ£i ö\´¯¨£kQÓx 11,000

Pmhh® ÂØ£øÚ C»õ£® 22,000

C¯¢vμ ÂØ£øÚ CÇ¨¦ 13,000

|h¨¦ ö\õzxUPÒ AvP›¨¦ (£nzøuzuÂμ) 46,000

|h¨¦ ö£õÖ¨¦PÒ AvP›¨¦ 29,000

15.  (a) A project costs Rs. 15,60,000 and yields annually a 
profit of Rs. 2,70,400 after depreciation of 12% p.a. 
but before tax at 25%. Calculate pay-back period. 

   J¸ vmhzvØS ¹. 15,60,000 ö\»ÁõQÓx ©ØÖ® 

12% p.a. ÷u´©õÚzvØS¨ ¤ÓS Bsk÷uõÖ®  
¹. 2,70,400 »õ£® DmkQÓx, BÚõÀ Á›US •ß 
25%. v¸¨¤a ö\¾zx® Põ»zøuU PnUQk[PÒ. 

Or 

 (b) List out the factors influencing dividend policy. 

   DÄzöuõøPU öPõÒøPø¯ £õvUS® PõμoPøÍ 
£mi¯¼k[PÒ. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Differentiate between financial accounting and 
management accounting. 

 {vUPnUQ¯À ©ØÖ® ÷©»õsø©U PnUQ¯À 
BQ¯ÁØÖUS Cøh÷¯¯õÚ ÷ÁÖ£õmøh ÂÍUSP. 
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17. Dhandapani & Co. Ltd., furnishes the following balance 
sheets for the years 2007 and 2008. Prepare common-size 
balance sheets. 

 Balance sheets. 

Liabilities 2007 
Rs. 

2008 
Rs. 

Assets 2007 
Rs. 

2008 
Rs. 

Share capital 2,00,000 3,00,000Buildings 4,00,000 4,00,000

Reserves 6,00,000 7,00,000Machinery 6,00,000 10,00,000

10% debentures 2,00,000 3,00,000Stock 2,00,000 3,00,000

Creditors 3,00,000 5,00,000Debtors 2,00,000 2,50,000

Bills payable 1,00,000 80,000Cash at bank 1,00,000 50,000

Tax payable 1,00,000 1,20,000 

 15,00,000 20,00,000 15,00,000 20,00,000

 ush£õo & ÷Põ ¼ªöhm, 2007 ©ØÖ® 2008B® 
BskPÐUPõÚ ¤ßÁ¸® C¸¨¦{ø»U SÔ¨¦PøÍ 
ÁÇ[SQÓx. ö£õxÁõÚ AÍÂ»õÚ C¸¨¦{ø»U 
SÔ¨¦PøÍz u¯õ›UPÄ®. 

 C¸¨¦{ø»USÔ¨¦ 

ö£õÖ¨¦PÒ 2007 
¹. 

2008 
¹. 

ö\õzxUPÒ 2007 
¹. 

2008 
¹. 

£[S ‰»uÚ® 2,00,000 3,00,000Pmih[PÒ 4,00,000 4,00,000

C¸¨¦UPÒ 6,00,000 7,00,000C¯¢vμ[PÒ 6,00,000 10,00,000

10% Phß £zvμ[PÒ 2,00,000 3,00,000£[SPÒ 2,00,000 3,00,000

PhßöPõkzuÁºPÒ 3,00,000 5,00,000PhÚõÎPÒ 2,00,000 2,50,000

ö\¾zu ÷Ási¯ 
Pmhn[PÒ 

1,00,000 80,000Á[Q°À 
£n® 

1,00,000 50,000

ö\¾zu÷Ási¯ Á› 1,00,000 1,20,000 

 15,00,000 20,00,000 15,00,000 20,00,000



D–8236 
  8

18. Pankajam Ltd., sells goods on cash as well as on credit 
basis. The following information is extracted from their 
books of accounts for 2003 : 

Particulars Rs. 

Total sales 1,00,000

Cash sales (included in the above) 20,000

Sales returns 7,000

Total debtors for sales as on 31.12.2003 9,000

Bills receivables as on 31.12.2003 2,000

Provision for doubtful debts 1,000

Trade creditors as on 31.12.2003 10,000

 You are required to calculate : 

 (a) Debtors/receivable turnover ratio 

 (b) The average collection period. 

 £[Pá® ¼ªöhm öμõUP©õPÄ® Phß Ai¨£øh°¾® 
ö£õ¸mPøÍ ÂØQÓx. 2003B® BskUPõÚ AÁºPÎß 
PnUS¨ ¦zuP[PÎ¼¸¢x ¤ßÁ¸® uPÁÀPÒ 
¤›zöukUP¨£mkÒÍÚ. 

ÂÁμ[PÒ ¹. 

ö©õzu ÂØ£øÚ 1,00,000

£n ÂØ£øÚ (÷©÷» EÒÍøÁ) 20,000

ÂØ£øÚ Á¸©õÚ® 7,000

31.12.2003 AßÖ ÂØ£øÚUPõÚ ö©õzu PhÚõÎPÒ 9,000

31.12.2003 AßÖ ¤ÀPÒ ö£ÓzuUPøÁ 2,000

\¢÷uPzvØS›¯ PhßPÐUPõÚ JxURk 1,000

31.12.2003Cß ÁºzuP Phß ÁÇ[S|ºPÒ 10,000

 }[PÒ PnUQh ÷Ásk® 

 (A) PhÚõÎPÒ/ö£ÓzuUP ÂØ£øÚ ÂQu® 

 (B) \μõ\› Á`À Põ»® 
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19. The following is the Comparative Balance sheets of 
Pratima & Co., Ltd. as on 30th June 1987 and 30th June 
1988. 

 Balance sheets 

Liabilities 30.6.1987
Rs. 

30.6.1988
Rs. 

Assets 30.6.1987
Rs. 

30.6.1988
Rs. 

Share capital 1,80,000 2,00,000Goodwill 24,000 20,000

Reserve fund 28,000 36,000Buildings 80,000 72,000

P&L A/c 39,000 24,000Machinery 74,000 72,000

Trade creditors 16,000 10,800Investments 20,000 22,000

Bank overdraft 12,400 2,600Inventories 60,000 50,800

Provision for 
taxation 32,000 34,000

Debtors 40,000 44,400

Provision for 
doubtful debts 3,800 4,200

Cash 13,200 30,400

 3,11,200 3,11,600 3,11,200 3,11,600

 Additional information : 

 (a) Depreciation charged on machinery Rs. 10,000 and 
on buildings Rs. 8,000 

 (b) Investments sold during the year Rs. 3,000 

 (c) Rs. 15,000 interim dividend paid during January 
1988 

 (d) Taxes paid during the year Rs. 30,000 

  Prepare  

  (i) a statement of changes in working capital 

  (ii) a funds flow statement. 
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 áüß 30,1987 ©ØÖ® áüß 30,1988 {»Áμ¨£i ¤μv©õ & 
÷Põ ¼ªöhm {ÖÁÚzvß J¨¥mk C¸¨¦{ø»U 
SÔ¨¦PÒ ¤ßÁ¸©õÖ. 

 C¸¨¦{ø»U SÔ¨¦ 

ö£õÖ¨¦PÒ 30.6.1987
¹. 

30.6.1988
¹. 

ö\õzxUPÒ 30.6.1987
¹. 

30.6.1988
¹. 

£[S ‰»uÚ® 1,80,000 2,00,000|À» ö£¯º 24,000 20,000

C¸¨¦{v 28,000 36,000Pmih[PÒ 80,000 72,000

C»õ£ |èh PnUS 39,000 24,000C¯¢vμ[PÒ 74,000 72,000

ÁºzuPhß 
öPõkzuÁºPÒ 

16,000 10,800•u½kPÒ 20,000 22,000

Á[Q ªøP¨£ØÖ 12,400 2,600\μUSPÒ 60,000 50,800

Á›Âv¨¦UPõÚ 
HØ£õk 32,000 34,000

PhÚõÎPÒ 40,000 44,400

\¢÷uPzvØS›¯ 
PhßPÐUPõÚ 
JxURk 3,800 4,200

£n® 13,200 30,400

 3,11,200 3,11,600 3,11,200 3,11,600

 TkuÀ uPÁÀ : 

 (A) C¯¢vμ[PÒ «x Á`¼UP¨£k® ÷u´©õÚ®  
¹. 10,000 ©ØÖ® Pmhh[PÐUS ¹. 8,000 

 (B) C¢u BsiÀ ÂØP¨£mh •u½kPÒ ¹. 3,000 

 (C) 1988 áÚÁ›°À ¹. 15,000 CøhUPõ» DÄzöuõøP 
ö\¾zu¨£mhx 

 (D) C¢u BsiÀ ö\¾zu¨£mh Á› ¹. 30,000 

  u¯õºö\´²[PÒ : 

  (i) ö\¯À£õmk ‰»uÚzvÀ HØ£k® ©õØÓ[PÎß 
AÔUøP 

  (ii) {v Kmh® AÔUøP. 

20. Discuss the methods of inflation accounting. 

 £n ÃUPU PnUQ¯À •øÓPøÍ¨ £ØÔ ÂÁõvUPÄ®. 

———————— 
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DISTANCE EDUCATION 

B.Com./B.Com.(Lateral Entry) DEGREE EXAMINATION, 
MAY 2025. 

Fifth Semester 

INTERNATIONAL MARKETING 

(CBCS 2018 – 2019 Academic Year Onwards) 

Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. State any four types of international marketing. 
 H÷uÝ® |õßS ÁøP¯õÚ \ºÁ÷u\ \¢øu¨£kzxuø» 

TÖP. 

2. What is meant by Economic Environment? 
 ö£õ¸Íõuõμ _ØÖ`ÇÀ £ØÔ AÔÁx GßÚ? 

3. Write note on absolute advantage theory. 
 •Êø©¯õÚ AÝT»U ÷Põm£õk £ØÔ SÔ¨¦ GÊxP. 

4. Give the meaning of franchising. 
 E›ø©¯ÎzuÀ Gß£uß ö£õ¸øÍ u¸P. 

5. Mention any four benefits of international market 
segmentation. 

 H÷uÝ® |õßS \ºÁ÷u\ \¢øu¨ ¤›Âß |ßø©PøÍU 
SÔ¨¤kP. 

6. What are the types of counter trade? 
 Gvº ÁºzuPzvß ÁøPPÒ ¯õøÁ? 

Sub. Code 
10251/12551
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7. State the barriers of international communication. 

 \ºÁ÷u\ uPÁÀöuõhº¤ß uøhPøÍ TÖP. 

8. What is Export Pricing? 

 HØÖ©v Âø» {ºn¯® GßÓõÀ GßÚ? 

9. What are the key requirements for obtaining a diamond 
import license? 

 øÁμ CÓUS©v E›©® ö£ÖÁuØPõÚ •UQ¯ ÷uøÁPÒ 
¯õøÁ? 

10. Write note on international dispute settlement 
machinery. 

 \ºÁ÷u\ uPμõÖ wºÄ C¯¢vμ[PÒ £ØÔU SÔ¨¦ GÊxP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Bring out the benefits of international marketing. 

   \ºÁ÷u\ \¢øu¨£kzu¼ß |ßø©PøÍ 
öÁÎUöPõnºP. 

Or 

 (b) List out the political factors that affect international 
marketing. 

   \ºÁ÷u\ \¢øu¨£kzuø» £õvUS® Aμ]¯À 
PõμoPøÍ £mi¯¼kP. 

12.  (a) Briefly explain the methods of international 
marketing research. 

   \ºÁ÷u\ \¢øu¨£kzuÀ Bμõ´a]°ß •øÓPøÍ 
_¸UP©õP ÂÍUSP. 

Or 
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 (b) What are the advantages and disadvantages of 
direct investment? 

   ÷|μi •u½miß |ßø©PÒ ©ØÖ® wø©PÒ ¯õøÁ? 

13.  (a) State the elements o f international product policy. 

   \ºÁ÷u\ u¯õ›¨¦U öPõÒøP°ß TÖPøÍ TÖP. 

Or 

 (b) Explain the pricing methods of international 
marketing. 

   \ºÁ÷u\ \¢øu¨£kzu¼ß Âø» {ºn¯ •øÓPøÍ 
ÂÍUSP. 

14.  (a) List out the types of international promoting 
strategies. 

   \ºÁ÷u\ FUSÂ¨¦ EzvPÎß ÁøPPøÍ 
£mi¯¼kP. 

Or 

 (b) Describe briefly the significance of export 
documentation. 

   HØÖ©v BÁn[PÎß •UQ¯zxÁzøu _¸UP©õP 
ÂÁ›UP. 

15.  (a) Bring out the characteristics of special economic 
zones. 

   ]Ó¨¦¨ ö£õ¸Íõuõμ ©sh»[PÎß ]Ó¨¤¯À¦PøÍ 
öÁÎ öPõnºP. 

Or 

 (b) What is triangular arbitrage? State its benefits. 

   •U÷Põn ©zv¯ìu® GßÓõÀ GßÚ? Auß 
|ßø©PøÍU TÖP. 
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SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the principles of international marketing. 

 \ºÁ÷u\ \¢øu¨£kzu¼ß ÷Põm£õkPøÍ¨ £ØÔ 
ÂÁõvUP. 

17. Explain the objectives and functions of WTO. 

 WTO ß ÷|õUP[PÒ ©ØÖ® £oPøÍ ÂÍUSP. 

18. Describe the factors affecting to international distribution 
system. 

 \ºÁ÷u\ Â{÷¯õP Aø©¨ø£ £õvUS® PõμoPøÍ 
ÂÁ›UP. 

19. Enumerate the objectives and importance of EXIM policy. 

 EXIM öPõÒøP°ß ÷|õUP[PÒ ©ØÖ® •UQ¯zxÁzøu 
£mi¯¼kP. 

20. Analyse the various types of international financial 
institution. 

 £À÷ÁÖ ÁøP¯õÚ \ºÁ÷u\ {v {ÖÁÚ[PøÍ £S¨£õ´Ä 
ö\´P. 

 

  

———————— 
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RETAIL MARKETING MANAGEMENT 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is residential property? 

 Si°¸¨¦ ö\õzx GßÓõÀ GßÚ? 

2. Write a short note on financial appraisal. 

 {v°¯À ©v¨¥k £ØÔ ]Ö SÔ¨¦ GÊxP. 

3. How do you analyze a property? 

 J¸ ö\õzøu }Ãº GÆÁõÖ £S¨£õ´Ä ö\´Ãº? 

4. Define – Corporate property. 

 ö£¸{Ö© ö\õzøu Áøμ¯ÖUPÄ®. 

5. Explain the meaning of property life cycle. 

 ö\õzx ÁõÌUøPa _ÇØ]°ß ö£õ¸øÍ ÂÍUSP. 

6. Write a short note on FSI. 

 FSI £ØÔ J¸ ]Ö SÔ¨¦ GÊxP. 

Sub. Code 
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7. What is financial report? 

 {v°¯À AÔUøP GßÓõÀ GßÚ? 

8. State the meaning of operating budget. 

 C¯UP vmh¨£mi¯¼ß ö£õ¸øÍU SÔ¨¤kP. 

9. What is meant by signage? 

 Aøh¯õÍ® £ØÔ AÔÁx GßÚ? 

10. Who is called as retailer? 

 ]À»øÓ ÂØ£øÚ¯õÍº GÚ AøÇUP¨£kÁº ¯õº? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) What are the various types of real property? 

   Esø©¯õÚ ö\õzvß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

Or 

 (b) State the management relationship with 
stakeholders. 

   £[SuõμºPÐhÚõÚ ÷©»õsø©°ß EÓøÁU TÖP. 

12.  (a) Briefly explain the concepts of property 
management planning. 

   ö\õzx ÷©»õsø© vmhªhÀ £ØÔ¯ P¸zxPøÍ 
_¸UP©õP ÂÍUSP. 

Or 

 (b) Explain the importance of strategic property 
management. 

   ²Uv \õº¢u ö\õzx {ºÁõPzvß •UQ¯zxÁzøu 
ÂÍUSP. 
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13.  (a) State the role of property in business. 

   Â¯õ£õμzvÀ ö\õzvß £[QøÚU SÔ¨¤kP. 

Or 

 (b) Explain the needs for managing retail property. 

   ]À»øÓ ö\õzøu {ºÁQ¨£uØPõÚ ÷uøÁPøÍ 
ÂÍUSP. 

14.  (a) What are the qualifying retail prospects? 

   uSvÁõ´¢u ]À»øÓ Áõ´¨¦PÒ ¯õøÁ? 

Or 

 (b) State the determinants of the value of a property. 

   J¸ ö\õzvß ©v¨ø£ wº©õÛUPTi¯ÁØøÓ TÖP. 

15.  (a) What are the importance of effective marketing of 
retail property? 

   ]À»øÓ ö\õzxUPøÍ vÓ®£h \¢øu¨£kzxÁuß 
•UQ¯zxÁ[PÒ ¯õøÁ? 

Or 

 (b) Explain the different types of maintenance of 
property. 

   ö\õzxUPøÍ £μõ©›¨£uß £À÷ÁÖ ÁøPPøÍ 
ÂÍUSP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Examine in detail the concepts of property management. 

 ö\õzx ÷©»õsø©°ß P¸zxUPøÍ Â›ÁõP Bμõ´P. 

17. Discuss the different sources for buying a property. 

 J¸ ö\õzøu Áõ[SÁuØPõÚ öÁÆ÷ÁÖ Buõμ[PøÍ 
ÂÁõvUP. 
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18. State and explain the importance of retail property 
management. 

 ]À»øÓ ö\õzx ÷©»õsø©°ß •UQ¯zxÁzøu TÔ 
ÂÍUSP. 

19. Explain the various methods of property valuation. 

 ö\õzx ©v¨¥miß £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

20. Explain the impact of internet usage on retail property 
industry. 

 ]À»øÓ ö\õzx öuõÈÀPÎÀ Cøn¯uÍ £¯ß£õmiß 
uõUPzøu ÂÍUSP. 

 

 

  

———————— 
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COST ACCOUNTING 
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Time : Three hours Maximum : 75 marks 

SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define cost accounting. 

 AhUPÂø» PnUQ¯ø» Áøμ¯ÖUP. 

2. What is meant by sunk cost? 

 ‰ÌQÂmh ö\»Ä £ØÔ AÔÁx GßÚ? 

3. What is meant by material control? 

 ‰»¨ö£õ¸Ò Pmk¨£õk £ØÔ AÔÁx GßÚ? 

4. What is meant by idle time? 

 ÃnõÚ Põ»® £ØÔ AÔÁx GßÚ? 

5. What is indirect expenses? 

 ©øÓ•Pa ö\»Ä GßÓõÀ GßÚ? 

6. What is meant by cost plus contract? 

 AhUPÂø» \õº¢u J¨£¢u £ØÔ AÔÁx GßÚ? 

Sub. Code 
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7. List out any two features of process costing. 
 £i•øÓ AhUPÂø»U PnUQ¯¼ß H÷uÝ® Cμsk 

ußø©PøÍ £mi¯¼kP. 

8. What is operating costing? 
 C¯UP AhUPÂø»°¯À GßÓõÀ GßÚ? 

9. What is meant by batch costing? 
 öuõSv AhUPÂø»°¯À £ØÔ AÔÁx GßÚ? 

10. State any two techniques of cost control. 
 ö\»ÄU Pmk¨£kzu¼ß H÷uÝ® Cμsk ~m£[PøÍU 

TÖP. 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) What are the limitations of cost accounting? 
   AhUPÂø» PnUQ¯¼ß SøÓ£õkPÒ ¯õøÁ? 

Or 

 (b) Explain the important ways of classification of cost.  
   AhUPÂø» ÁøP¨£kzu¼ß •UQ¯ ÁÈPøÍ 

ÂÍUSP. 

12.  (a) A Ltd provides the following information in respect 
of material A. 

  Supply period : 5 to 15 days 

  Rate of consumption : 

  Average : 15 units per day, Maximum : 20 units per 
day; yearly : 5000 units ordering costs are Rs. 20 per 
order; purchasing price per unit is Rs. 50, storage 
costs are 10% of unit value. 

  Compute : (i) EOQ (ii) Number of orders per year 
(iii) Reorder level (iv) Minimum level (v) Maximum 
level (vi) Average stock level. 
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   ‰»¨ö£õ¸Ò öuõhº£õÚ ¤ßÁ¸® uPÁÀPøÍ A 
{Ö©® AÎUQßÓx. AÎ¨¦ Põ»® : 5 •uÀ  
15 |õmPÒ  

   ~PºÄ Ãu® : 

  \μõ\› : |õÒ JßÖUS 15 A»SPÒ AvP£m\® : |õÒ 
JßÖUS 20 A»SPÒ Bsk JßÖUS : 5000 
A»SPÒ. 

  Bøn°k® ö\»Ä : ¹. 20 Bøn JßÖUS : Kº 
A»QØPõÚ öPõÒ•uÀ Âø» : ¹. 50 ÷\ª¨¦ ö\»Ä 
& A»Qß ©v¨¤À 10%. 

  PnUQkP : 

  (i) ]UPÚ öPõÒ•uÀ AÍÄ (ii) J¸ BsiØS 
÷Põμ¨£k® BønPÎÀ GsoUøP (iii) ©Ö Bøn 
©mh® (iv) SøÓ¢u £m\ ©mh® (v) AvP£m\ ©mh® 
(vi) \μõ\› \μUQ¸¨¦ ©mh®. 

Or 

 (b) The following are the particular applicable to a work 
process. 

  Time Rate : Rs. 5 per hour; 

  Standard : 40 units per week 

  Piece rate above high task : Rs. 6.50 per unit 

  In a 40 hrs week, each of the following workers 
produced 

  A - 35 units  B - 40 units  C - 41 units  D - 52 units 

  Calculate the wages of the workers under Gantt’s 
task bonus plan. 

   ¤ßÁ¸® Â£μ[PÒ ÷Áø» £i•øÓø¯ \õº¢ux. 

  ÷|μ Ãu® : J¸ ©oUS ¹. 5 : {ø»¯õÚx : J¸ 
ÁõμzvØS 40 A»SPÒ AvP £oUS ÷©»õÚ Ãu® : 
Kº A»QØS ¹. 6.50. 

  J¸ ÁõμzvÀ 40 ©o ÷|μzvÀ JÆöÁõ¸ 
£o¯õÍºPÐ® EØ£zv ö\´u AÍÄPÒ 
¤ßÁ¸©õÖ: 

  A-35 A»SPÒ, B-40 A»SPÒ, C-41 A»SPÒ, D-52 
A»SPÒ Põßm £o ÷©¾v¯ vmhzvß £i 
£o¯õÍºPÎß T¼ø¯ PnUQkP. 
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13.  (a) In a factory, there are two service department X and 
Y and three production department A, B, C. In April 
2018, the departmental expenses were: 

Departments : A B C X Y 

Rs. 6,50,000 6,00,000 5,00,000 1,20,000 1,00,000

  The expenses of the service departments are 
allocated on a percentage basis as follows : 

 A B C X Y 

I 30% 40% 15% – 15%

II 40% 30% 25% 5% – 

  Prepare a statement showing the distribution of the 
expenses of the two service departments to the 
production departments on the basis of repeated 
distribution method. 

   J¸ öuõÈØ\õø»°À X, Y GßÓ Cμsk ÷\øÁz 
xøÓ²® A, B, C GßÓ ‰ßÖ EØ£zv xøÓPÐ® 
EÒÍÚ. H¨μÀ 2018 AßÖ xøÓPÐUPõÚ 
ö\»ÂÚ[PÒ ¤ßÁ¸©õÖ : 

xøÓPÒ: A B C X Y 

¹. 6,50,000 6,00,000 5,00,000 1,20,000 1,00,000

  ÷\øÁz xøÓ°ß ö\»ÂÚ[PÒ RÌUPsh \uÂQu 
Ai¨£øh°À £Qº¢uÎUP¨£kQßÓÚ. 

 A B C X Y 

I 30% 40% 15% – 15%

II 40% 30% 25% 5% – 

  ÷\øÁzxøÓ°ß ö\»ÂÚ[PøÍz v¸®£¨ 
£Qº¢uÎ¨¦ •øÓ°À EØ£zv xøÓPÐUS¨ 
£[Qk® ÁøP°À AmhÁøn u¯õº ö\´P. 

Or 

 (b) Distinguish between job costing and process costing. 

   £o AhUPÂø»°¯ø»²® £i•øÓ 
AhUPÂø»°¯ø»²® ÷ÁÖ£kzxP. 
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14.  (a) The cost of production of 40 units consisting of 
materials Rs. 5,500; labour Rs. 3,200 and overhead 
Rs. 420. The normal waste is 5% of input. Show the 
process account. 

   40 A»QØPõÚ EØ£zv ö\»ÂÀ ¹. 5,500 
‰»¨ö£õ¸ÍõPÄ®, ¹. 3,200 EøÇ¨¦ ö\»ÁõPÄ®, 
¹. 420 ÷©Øö\»ÄPÍõPÄ® EÒÍÚ. C¯À£õÚ PÈÄ 
AuÝøh¯ EÒÏmiÀ 5% BS®. £i•øÓ 
PnUQ¯ø» PõmkP. 

Or 

 (b) What is batch costing? How does it differ from job 
costing? 

   öuõSv AhUPÂø»°¯À GßÓõÀ GßÚ? Ax £o 
AhUPÂø»°¯¼¸¢x GÆÁõÖ ÷ÁÖ£kQßÓx? 

15.  (a) From the following data calculate labour variance 
for the two departments. 

Departments  
Particulars A (Rs.) B (Rs.) 

Actual wages 2,000 1,800

Standard hours produced 8,000 6,000

Standard rate per hour 30 paise 35 paise

Actual hours worked 8,200 5,800

   ¤ßÁ¸® uPÁÀPÎ¼¸¢x C¸ xøÓPÐUPõÚ 
EøÇ¨¦ ©õÖ£õmøh PõsP. 

xøÓPÒ  
ÂÁμ[PÒ A (¹.) B (¹.) 

Esø©¯õÚ T¼ 2,000 1,800
vmh ÷|μzvØPõÚ EØ£zv 8,000 6,000
J¸ ©oUPõÚ {ø»¯õÚ Ãu® 30 ø£\õ 35 ø£\õ
Esø©¯õP EøÇzu ÷|μ[PÒ 8,200 5,800

Or 
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 (b) State the reasons for differences in profits revealed 
by cost and financial accounts. 

   AhUPÂø» PnUQ¯À ©ØÖ® {v{ø»U PnUQ¯À 
öÁÎ¨£kzuUTi¯ C»õ£ ÷ÁÖ£õmiØUPõÚ 
Põμn[PøÍ TÖP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. The following data relate to the manufacture of a product 
during the month of January 2018. 

 Raw materials consumed Rs. 30,000 

 Direct wages Rs. 19,600 

 Machine hours worked : 2,300 hours 

 Machine Hour Rate Rs. 1.00 

 Office on cost - 10% of works cost 

 Selling on cost - Re. 0.20 per unit 

 Units produced : 19,030 

 Units sold 11,418 @ Rs. 4 each 

 You are required to prepare a cost sheet in respect of 
above showing the cost of production per unit. 

 ¤ßÁ¸® uPÁÀPÍõÚx áÚÁ› 2018B® ©õuzvÀ J¸ 
ö£õ¸øÍ EØ£zv ö\´Á÷uõk öuõhº¦ öPõskÒÍx. 

 ‰»¨ö£õ¸ÒPÒ £¯ß£kzv¯x ¹. 30,000 

 ÷|μiU T¼ ¹. 19,600 

 £¯ß£kzu¨£mh C¯¢vμ ©o ÷|μ® 2,300 ©oPÒ 

 C¯¢vμ ©o ÷|μ Ãu® ¹. 1.00 

 A¾Á»P ÷©Øö\»ÄPÒ & £o AhUPÂø»°À 10% 

 ÂØ£øÚ ÷©Øö\»ÄPÒ & A»S JßÖUS ¹. 20 ø£\õ 

 EØ£zv ö\´¯¨£mh A»SPÒ : 19,030 

 ÂØP¨£mh A»SPÒ : 11,418 @ JßÖ ¹. 4 Ãu® 

 J¸ A»QØPõÚ EØ£zv Âø»ø¯ Põmk® AhUPÂø» 
£mi¯ø» u¯õ›UP. 
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17. Show the stores ledger entries as they would  appear 
when using : 

 (a) the weighted average method 

 (b) the simple average method. 

Date Particulars Units Price

April 1 Balance in hand 300 2.00

April 2 Purchased 200 2.20

April 4 Issued 150  

April 6 Purchased 200 2.30

April 11 Issued 150  

April 19 Issued 200  

April 22 Purchased 200 2.40

April 27 Issued 150  

 Høh°mh \μõ\› ©ØÖ® GÎ¯ \μõ\› •øÓ°À ¤ßÁ¸® 
uPÁÀPøÍU öPõsk Qh[S ÷£÷μmk PnUøP PõmkP. 

  A»SPÒ Âø»

H¨μÀ 1 øP°¸¨¦ 300 2.00 

H¨μÀ 2 öPõÒ•uÀ 200 2.20 

H¨μÀ 4 ÁÇ[Q¯x 150  

H¨μÀ 6 öPõÒ•uÀ 200 2.30 

H¨μÀ 11 ÁÇ[Q¯x 150  

H¨μÀ 19 ÁÇ[Q¯x 200  

H¨μÀ 22 öPõÒ•uÀ 200 2.40 

H¨μÀ 27 ÁÇ[Q¯x 150  
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18. A manufacturing concern has two production 
departments and three service departments. The total 
overheads of the departments on 31.07.2015 are : 

Production departments : Rs. Service departments Rs. 
X 16,000 Time office 4,000
Y 10,000 Stores 5,000
  Maintenance 3,000

 Details relating to the departments are : 
 Production 

departments 
Service departments 

 X Y Time 
office 

Stores Maintenance

Number of workers 40 30 20 20 10 
Number of stores 
requisition 

24 20 - - 6 

Machine hours 2400 1600 - - - 

 Prepare overhead distribution summary by step method. 

 J¸ EØ£zv {ÖÁÚ©õÚx Cμsk EØ£zv xøÓPøÍ²® 
©ØÖ® ‰ßÖ ÷\øÁ xøÓPøÍ²® öPõsi¸¢ux. 
31.07.2015 AßÖ xøÓPÎß ö©õzu ÷©Øö\»ÄPÒ 
¤ßÁ¸©ÇÖ : 
EØ£zv xøÓPÒ : ¹. ÷\øÁ xøÓPÒ : ¹. 

X 16,000 Põ» A¾Á»P® 4,000
Y 10,000 Qh[S 5,000
  £μõ©›¨¦ 3,000

 xøÓ \õº¢u uPÁÀPÒ ¤ßÁ¸©õÖ : 

 EØ£zv 
xøÓPÒ 

÷\øÁ xøÓPÒ 

 X Y Põ» 
A¾Á»P®

Qh[S£μõ©›¨¦

öuõÈ»õÍºPÎß 
GsoUøP 

40 30 20 20 10 

\μUS ÷Ásku¼ß 
GsoUøP 

24 20 - - 6 

C¯¢vμ ©o ÷|μ® 2400 1600 - - - 

 £i•øÓ°À ÷©Øö\»øÁ £Qº¢uÎUS® £mi¯ø» 
u¯õ›UP. 
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19. East coast construction undertook a contract on 1st 
January 2010. The cost price being Rs. 1,00,000. During 
the year work certified was valued at Rs. 50,000 of which 
75% was received. Work uncertified amounted to  
Rs. 10,000. The following expenses were incurred. 

Particulars Rs. Particulars Rs. 

Materials 30,000 Indirect expenses 5,000

Labour 20,000 Wages accrued at the end 2,000

Plant 10,000 Materials in hand 1,000

Direct expenses 8,000 Plant in hand 1,500

 Prepare the contract accounts as on 30th June 2010. 

 Dìm ÷Põìm Pmk©õÚ {ÖÁÚ©õÚx 1.1.2010 AßÖ J¸ 
J¨£¢uzøu Gkzux. Auß AhUP Âø» ¹. 1,00,000. 
AÆÁõsiØPõÚ \õßÓÎUP¨£mh £o ¹. 50,000 AvÀ 
75% ö£Ó¨£mhx. \õßÓÎUP¨£hõu £o ¹. 10,000. 
¤ßÁ¸® ö\»ÂÚ[PÒ HØ£mhÚ. 

Â£μ[PÒ ¹. 

‰»¨ö£õ¸ÒPÒ 30,000

T¼ 20,000

ö£õÔ 10,000

÷|μia ö\»ÂÚ[PÒ 8,000

©øÓ•P ö\»ÂÚ[PÒ 5,000

CÖv°À öPõkUP ÷Ási¯ T¼ 2,000

‰»¨ö£õ¸Îß øP°¸¨¦ 1,000

ö£õÔ øP°¸¨¦ 1,500

 30.06.2010 AßÖ J¨£¢u PnUøP u¯õº ö\´P. 

20. From the following particulars prepare (a) a statement of 
cost of manufacture (b) a statement of profit as per cost 
accounts (c) profit and loss account in the financial books 
and (d) reconciliation statement reconciling profit as per 
cost and financial books. 
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Particulars Rs. 

Opening stock of raw materials 60,000

Opening stock of finished goods 1,20,000

Purchase of raw materials 3,60,000

Stock of raw materials at the end 90,000

Stock of finished goods at the end 30,000

Wages 1,50,000

 Calculate factory overhead at 25% on prime cost and 
office overhead at 75% on factory overhead. Actual works 
expenses amounted to Rs. 1,16,250 and actual office 
expenses amounted to Rs. 91,500. The selling price was 
fixed at a profit of 20% of the selling price. 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x (A) EØ£zv AhUPÂø» 
£mi¯À (B) AhUP PnUQ¯¼ß £i C»õ£ AÔUøP  
(C) {v{ø» Hmiß £i C»õ£|mh PnUS ©ØÖ®  
(D) AhUPÂø» ©ØÖ® {v{ø» Hmiß £i C»õ£zøu 
\›ö\´²® \›Pmk® £mi¯ø»²® u¯õ›UP. 

ÂÁμ[PÒ ¹. 

Pa\õö£õ¸ÒPÎß öuõhUP\μUQ¸¨¦ 60,000

CÖv¨ö£õ¸Îß öuõhUP\μUQ¸¨¦ 1,20,000

Pa\õö£õ¸ÒPÒ Áõ[Q¯x 3,60,000

CÖv°¾ÒÍ Pa\õö£õ¸ÒPÎß ©v¨¦ 90,000

CÖv°¾ÒÍ CÖv¨ö£õ¸ÒPÎß ©v¨¦ 30,000

T¼ 1,50,000

 •ußø© AhUPÂø»°ß «x öuõÈØ\õø» 
÷©Øö\»ÂØPõP 25%•® ©ØÖ® öuõÈØ\õø» 
÷©Øö\»Âß «x A¾Á»P ÷©Øö\»ÂØS 75%•® 
PnUQkP. Esø©¯õÚ £o ö\»ÄPÒ ¹. 1,16,250 
©ØÖ® Esø©¯õÚ A¾Á»P ö\»ÂÚ[PÒ ¹. 91,500 
BS®. C»õ£©õÚx ÂØ£øÚ Âø»°ß «x 20% 
PnUQkP. ÂØ£øÚ Âø» {ºn°UP¨£kQÓx. 

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define project integration management. 

 vmh J¸[Qøn¨¦ ÷©»õsø©ø¯ Áøμ¯ÖUPÄ®. 

2. What is project life cycle? 

 vmh ÁõÌUøP _ÇØ] GßÓõÀ GßÚ? 

3. What is meant by organisational structure? 

 {ÖÁÚ Aø©¨¦ £ØÔ AÔÁx GßÚ? 

4. What is work breakdown structure? 

 £o •ÔÄ Pmhø©¨¦ GßÓõÀ GßÚ? 

5. Write any two benefits of risk management. 

 Chº ÷©»õsø©°ß H÷uÝ® Cμsk |ßø©PøÍ 
GÊxP. 

6. List out the components of project budget. 

 vmh £möámiß TÖPøÍ £mi¯¼kP. 

Sub. Code 
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7. What is value engineering? 

 ©v¨¦ ö£õÔ°¯À GßÓõÀ GßÚ? 

8. What is meant by project close out? 

 vmh ‰hÀ £ØÔ AÔÁx GßÚ? 

9. What are the challenges of contract management? 

 J¨£¢u ÷©»õsø©°ß \ÁõÀPÒ ¯õøÁ? 

10. What are the four techniques used for post-completion 
audit? 

 uoUøP •i¢u ¤ÓS £¯ß£kzu¨£k® |õßS ~m£[PÒ 
¯õøÁ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) State the benefits of project management. 

   vmh ÷©»õsø©°ß |ßø©PøÍU TÖP. 

Or 

 (b) Briefly discuss the project identification process. 

   vmh Aøh¯õÍ ö\¯À•øÓø¯¨ £ØÔ _¸UP©õP 
ÂÁõvUPÄ®. 

12.  (a) Bring out the role and responsibilities of project 
managers. 

   vmh ÷©»õÍºPÎß £[S ©ØÖ® ö£õÖ¨¦PøÍ u¸P. 

Or 

 (b) List out the advantages and disadvantages of 
lasses-faire leadership. 

   áÚ|õ¯P uø»ø©zxÁzvß |ßø©PÒ ©ØÖ® 
wø©PøÍ £mi¯¼kP. 
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13.  (a) Write a short note on PERT model. 

   PERT ©õv›ø¯¨ £ØÔ J¸ ]ÖSÔ¨¦ GÊxP. 

Or 

 (b) State the importance of project planning. 

   vmh vmhªh¼ß •UQ¯zxÁzøuU TÖP. 

14.  (a) Differentiate between quality management and 
total quality management. 

   uμ ÷©»õsø© ©ØÖ® ö©õzu uμ ÷©»õsø©ø¯ 
÷ÁÖ£kzxP. 

Or 

 (b) What are the features of a good project management 
information system? 

   J¸ |À» vmh ÷©»õsø© uPÁÀ Aø©¨¤ß 
A®\[PÒ ¯õøÁ? 

15.  (a) Explain the characteristics of good project 
execution. 

   J¸ |À» vmh ö\¯À£kzu¼ß £s¦PøÍ ÂÍUSP. 

Or 

 (b) What are the merits of project management 
software? 

   vmh ÷©»õsø© ö©ßö£õ¸Îß |ßø©PÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Analyze the prerequisites for a successful project 
management.  

 öÁØÔPμ©õÚ vmh ÷©»õsø©UPõÚ •ß{£¢uøÚPøÍ 
£S¨£õ´Ä ö\´P. 
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17. Discuss the leadership styles of project manager and line 
manager. 

 vmh ÷©»õÍº ©ØÖ® Á› ÷©»õÍ›ß uø»ø©zxÁ 
£õoPøÍ¨ £ØÔ ÂÁõvUP. 

18. Discuss in detail about risk identification and risk 
analysis. 

 Chº Aøh¯õÍ® ©ØÖ® Chº £S¨£õ´Ä £ØÔ Â›ÁõP 
ÂÁõvUP. 

19. Discuss the components of a project management 
information system. 

 vmh ÷©»õsø© uPÁÀ Aø©¨¤ß TÖPøÍ¨ £ØÔ 
ÂÁõvUP. 

20. Describe the different types of project management 
software in detail. 

 £À÷ÁÖ ÁøP¯õÚ vmh ÷©»õsø© ö©ßö£õ¸øÍ  
Â›ÁõP ÂÁ›UP. 

 

 

  

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Write the meaning of research. 

 Bμõ´a] Gß£uß ö£õ¸øÍ GÊxP. 

2. Define research design. 

 Bμõ´a] ÁiÁø©¨¦ Áøμ¯ÖUP. 

3. What do you mean by descriptive research? 

 ÂÍUP Bμõ´a] £ØÔ }Ãº AÔÁx GßÚ? 

4. What is meant by questionnaire? 

 ÷PÒÂzuõÒ £ØÔ AÔÁx GßÚ? 

5. What is scaling techniques? 

 AÍÂk® ~m£® GßÓõÀ GßÚ? 

6. Trace the meaning of probability sampling. 

 {PÌuPÄ ©õv›TöÓkzuÀ Gß£uß ö£õ¸øÍ u¸ÂUP. 

Sub. Code 
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7. What is editing? 

 öuõS¨£õUP® GßÓõÀ GßÚ? 

8. What do you mean by standard deviation? 

 vmh Â»UP® £ØÔ }Ãº AÔÁx GßÚ? 

9. What is research report? 

 Bμõ´a] AÔUøP GßÓõÀ GßÚ? 

10. What is meant by data mining? 

 uPÁÀ ö\¯»õUP® £ØÔ }Ãº AÔÁx GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) What are the objectives of marketing research? 

   \¢øu¨£kzuÀ Bμõ´a]°ß ÷|õUP[PÒ ¯õøÁ? 

Or 

 (b) What are the advantages of research design? 

   Bμõ´a] ÁiÁø©¨¤ß |ßø©PÒ ¯õøÁ? 

12.  (a) Bring out the drawbacks of secondary data. 

   Cμshõ®{ø»z uμÂß SøÓ£õkPøÍ 
öÁÎUöPõnºP. 

Or 

 (b) Briefly explain Likert scale. 

   ø»UPºm AÍÄ÷Põø» _¸UP©õP ÂÍUSP. 

13.  (a) State the importance  of sampling in marketing 
research. 

   \¢øu¨£kzuÀ Bμõ´a]°À ©õv›TöÓkzu¼ß 
•UQ¯zxÁzøuU TÖP. 

Or 
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 (b) Write the steps involved in hypothesis testing. 

   AÝ©õÚ ÷\õuøÚ°À EÒÍ £iPøÍ GÊxP. 

14.  (a) What are the tests for normality and outliers? 

   C¯À{ø» ©ØÖ® öÁÎ¯õmPÐUPõÚ ÷\õuøÚPÒ 
¯õøÁ? 

Or 

 (b) State the differences between univariate and 
bivariate analysis. 

   J÷μ ©õv›¯õÚ ©ØÖ® C¸÷ÁÖ £S¨£õ´ÄPÐUS® 
Cøh°»õÚ ÷ÁÖ£õkPøÍU SÔ¨¤kP. 

15.  (a) List out the purpose of research report. 

   Bμõ´a] AÔUøP°ß ÷|õUPzøu £mi¯¼kP. 

Or 

 (b) What are the characteristics of marketing 
information system? 

   \¢øu¨£kzuÀ uPÁÀ Aø©¨¤ß £s¦PÒ ¯õøÁ? 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Explain the different types of marketing research. 

 £À÷ÁÖ ÁøP¯õÚ \¢øu¨£kzuÀ Bμõ´a]ø¯ ÂÍUSP. 

17. Explain the points to be considered while preparing 
questionnaire. 

 ÷PÒÂzuõøÍz u¯õ›US®÷£õx P¸zvÀ öPõÒÍ 
÷Ási¯ Âå¯[PøÍ ÂÍUSP. 
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18. Explain the test of significance of difference between two 
sample proportions. 

 Cμsk ©õv› ÂQu[PÐUS Cøh°»õÚ 
÷ÁÖ£õmiÝøh¯ •UQ¯zxÁzvß ÷\õuøÚø¯ 
ÂÍUSP. 

19. What are the factors to be considered while selecting 
appropriate survey method? 

 ö£õ¸zu©õÚ PnUöPk¨¦ •øÓø¯z ÷uº¢öukUS® 
÷£õx P¸zvÀ öPõÒÍ ÷Ási¯ PõμoPÒ ¯õøÁ? 

20. State the recent trends in marketing research. 

 \¢øu¨£kzuÀ Bμõ´a]°ß \«£zv¯ ÷£õUSPøÍU 
TÖP. 

 

 

  

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is meant by calls in arrears? 

 AøÇ¨¦ {¾øÁ £ØÔ AÔÁx GßÚ? 

2. What do you mean by redeemable preference shares? 

 «m¦ •ßÝ›ø© £[SPÒ £ØÔ }Ãº AÔÁx GßÚ? 

3. What is super profit method? 

 ªøP C»õ£ •øÓ GßÓõÀ GßÚ? 

4. What do you mean by yield method? 

 Á¸©õÚ •øÓ £ØÔ }Ãº AÔÁx GßÚ? 

5. What is meant by contingent liability? 

 Gvº£õμõu ö£õÖ¨¦PÒ £ØÔ AÔÁx GßÚ? 

6. What is external reconstruction? 

 öÁÎ ^μø©¨¦ GßÓõÀ GßÚ? 

Sub. Code 
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7. What is unrealized profit? 

 ö£Ó¨£hõu C»õ£® GßÓõÀ GßÚ? 

8. What is meant by liquidation? 

 Pø»¨¦ £ØÔ AÔÁx GßÚ? 

9. What is money at call and short notice? 

 AøÇ¨¦ ©ØÖ® SÖQ¯ Põ» AÔÂ¨¤À £n® GßÓõÀ 
GßÚ? 

10. What is human resource accounting? 

 ©Ûu ÁÍ PnUQ¯À GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) A company forfeits 100 share of Rs. 10 each, 
originally issued at a premium of Rs. 2 per share. 
The shareholder paid Rs. 4 per share on application 
but did not pay the allotment money of Rs. 4 per 
share (including premium)) and call of Rs. 4 per 
share. These shares were subsequently reissued at 
Rs. 11 per share as fully paid up. Pass journal 
entries. 

   ¹. 2 •øÚ©zvÀ öÁÎ°mh 100 £[SPÒ ¹. 10 
Ãu® EÒÍøÁ JÖ¨¤Ç¨¦ ö\´¯¨£mhx. J¸ 
£[Suõμº Âsn¨£zvß «x ¹. 4 ö\¾zvÚõº 
BÚõÀ JxURk ¹. 4 (•øÚ©® ÷\º¢ux) ©ØÖ® 
AøÇ¨¦ ¹. 4 ö\¾zuÂÀø». A¨£[SPøÍ  ¹. 11 
GÚ ©ÖöÁÎ±k ö\´ux. SÔ¨÷£mk £vÄPøÍ 
u¸P. 

Or 
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 (b) A company issued 40000 shares of Rs. 100 each for 
public subscription. The issue was underwritten as 
follows : 

  P - 25%;  Q - 30%  and R - 25% 

  The company received a total number of 28000 

applications of which marked applications were as 

follows. 

  P - 8000 shares; Q - 6000 shares and R - 8000 shares 

  Determine the liability of each of the underwriters. 

   J¸ {Ö©® 40000 £[SPøÍ ¹. 100 Ãu® ö£õx 
\¢uõÄUS öÁÎ°mhx. Aøu J¨¦Öv ¤ßÁ¸©õÖ 
ö\´ux. 

  P - 25%;  Q - 30%  ÷©¾® R - 25% 

  28,000 Âsn¨£[PÒ ö£Ó¨£mk SÔ°mh 

Âsn¨£[PÒ ¤ßÁ¸©õÖ. 

  P - 8000 £[SPÒ; Q - 6000 £[SPÒ ©ØÖ® R - 8000 
£[SPÒ 

  £[SPÒ J¨¦Öv¯õÍºPÎß ö£õÖ¨¦PøÍ 
wº©õÛUP. 

12.  (a) The profit of Jeyaram Ltd., for the last 5 years were 

as follows : 

  2004 - Rs. 28,000; 2005 - Rs. 28,000; 2006 -  

Rs. 30,000; 2007 - Rs. 35,000; 2008 - Rs. 32,000. 

Compute the value of goodwill of Jeyaram Ltd. On 

the basis of 4 year purchase of weighted average 

profit after assigning weights 1,2,3,4 and 5 serially 

to the profits. 
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   öá¯μõ® {Ö©zvß Ph¢u 5 BskPÎß C»õ£[PÒ 
¤ßÁ¸©õÖ : 

  2004 - ¹. 28,000; 2005 - ¹. 28,000; 2006 -  
¹. 30,000; 2007 - ¹. 35,000; 2008 - ¹. 32,000. 
C»õ£zvØS 1,2,3,4 ©ØÖ® 5 GÚ Á›ø\¯õP 
GøhPøÍ JxUQ¯¤ß Gøh°mh \μõ\› C»õ£zvß 
4 Bsk öPõÒ•uÀ GßÓ Ai¨£øh°À öá¯μõ® 
{Ö©zvß |Øö£¯›ß ©v¨ø£U PnUQkP. 

Or 

 (b) Explain the various methods of valuation of shares. 

   £[SPøÍ ©v¨¤kÁvß £À÷ÁÖ •øÓPøÍ 
ÂÍUSP. 

13.  (a) From the following particulars, prepare a statement 
of profit and loss for the year ended 31st December 
2017. 

Particulars Rs. Particulars Rs. 

Sales 3,00,000 Directors remuneration 1,750

Purchases 1,95,000 Debenture interest 1,090

Salaries 15,000 Rent, rates and taxes 5,500

Selling expenses 3,000 Advertisement 500

Depreciation 1,500 Audit fees 1,500

   ¤ßÁ¸® Â£μ[PÎ¼¸¢x i\®£º 31, 2017À 
•iÁøh¯UTi¯ BsiØPõÚ C»õ£, |mh 
AÔUøPø¯ u¯õ›UP. 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

ÂØ£øÚ 3,00,000 C¯US|º Fv¯® 1,750

öPõÒ•uÀ 1,95,000 PhÜmk¨£zvμ Ámi 1,090

\®£Í® 15,000 ÁõhøP, Ãu® ©ØÖ® Á›PÒ 5,500

ÂØ£øÚ ö\»ÄPÒ 3,000 ÂÍ®£μ[PÒ 500

÷u´©õÚ® 1,500 uoUøP Pmhn® 1,500

Or 
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 (b) Differentiate absorption and external 
reconstruction. 

   Dº¨¦ ©ØÖ® ¦Ó^μø©¨ø£ ÷ÁÖ£kzxP. 

14.  (a) A subsidiary company has a capital of Rs. 5,00,000 
in shares of Rs. 100 each out of which the holding 
company acquired 80% of the shares at Rs. 6,00,000 
the profits of the subsidiary company on the date of 
acquisition of shares by the holding company were 
Rs. 3,00,000. Calculate the value of goodwill or 
capital reserve. 

   xøn {Ö©® ¹. 100 Ãu® öPõsh £[SPÒ  
¹. 5,00,0000 ‰»uÚ©õP øÁzxÒÍx. CÁØÔÀ 
¤i¨¦ {Ö©® 80% £[SPøÍ ¹. 6,00,000US 
öPõÒ•uÀ ö\´ux. £[SPøÍ Áõ[Q¯ Az÷uv°À 
xøn {Ö©zvß C»õ£® ¹. 3,00,000. |Øö£¯º 
AÀ»x ‰»uÚU Põ¨¥miøÚ PnUQkP. 

Or 

 (b) The following particulars relate to a Ltd. Company 
which has gone into voluntary liquidation. The 
liquidator is entitled to get 2% on the amount 
distributed to unsecured creditors other than 
preferential. You are required to prepare the 
liquidators final accounts. 

Particulars Rs. 

Preferential creditors 40,000

Unsecured creditors 1,28,000

Debentures 40,000

The assets realized are : 

Land and buildings 80,000

Plant and machinery 74,600

Furniture and fittings 4,000

Liquidation expenses 4,000
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   ¤ßÁ¸® uPÁÀPÍõÚx uõÚõP Pø»UP¨£mh J¸ 
{Ö©zvØS›¯. •ßÝ›ø© PhÜ¢÷uõ¸US 
AÎUP¨£mh öuõøPø¯ uÂμ ¤øn¯ªÀ»õ 
PhÜ¢÷uõ¸US ÁÇ[P¨£mh öuõøP°ß 2% Fv¯® 
ö£Ó Pø»¨£õÍ¸US E›ø© Esk. Cv¼¸¢x 
Pø»¨£õÍ›ß CÖv PnUøP u¯õº ö\´P. 

ÂÁμ[PÒ ¹. 

•ßÝ›ø© PhÜ¢÷uõº 40,000
¤øn¯ªÀ»õ PhÜ¢÷uõº 1,28,000
PhÜmk £zvμ® 40,000
ÂØP¨£mh ö\õzxUPÒ ¤ßÁ¸©õÖ :

{»® ©ØÖ® Pmih® 80,000
ö£õÔ ©ØÖ® C¯¢vμ® 74,600
AøÓP»ß ©ØÖ® ö£õ¸zxPÒ 4,000
Pø»¨¦a ö\»ÄPÒ 4,000

15.  (a) What is premium and reserve for unexpired risk? 
Explain. 

   •øÚ©® ©ØÖ© •iÁøh¯õ Chº£õmiØPõÚ Põ¨¦ 
GßÓõÀ GßÚ? ÂÍUSP. 

Or 

 (b) What is IFRS? State its advantages. 

   IFRS GßÓõÀ GßÚ? AuÝøh¯ |ßø©PøÍ TÖP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. A company has Rs. 6,00,000 6% debentures outstanding 
on 1st January 2007. On this date, the debentures 
redemption fund stood at Rs. 5,00,000 represented by  
Rs. 5,90,000, 4½% (2020) loan of the Govt. of India. The 
annual instalment added to the fund is fund is Rs. 82.300. 
On 31st December 2007, the bank balance after the 
receipt of interest on the investment was Rs. 1,56,400. On 
that date the investment was sold at 83 percent net and 
the debentures were paid off. Show the necessary 
accounts for the year 2007. 
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 J¸ {Ö©©õÚx ¹. 6,00,000, 6% PhÜmk £zvμzøu 
01.01.2007 AßÖ øÁzv¸¢ux. Az÷uv°À PhÜmk 
£zvμ {v ¹. 5,00,000 ©õÚx 4½% (2020) ¹. 5,90,000 
Aμ\õ[P PhÚõP SÔUP¨£mhx. A¢u {v÷¯õk 
Bsk÷uõÖ® ¹. 82,300 ÷\ºUP¨£mhx. 31.12.2007 
AßÖ •u½kPÒ «uõÚ Ámiø¯ ö£ØÓ ¤ßÚº Á[Q 
C¸¨¦ ¹. 1,56,400. Az÷uv°À •u½kPÍõÚx 83% 
ÂØP¨£mhÚ. PhÜmk £zvμ©õÚx ö\¾zu¨£mhÚ. 
2007® BsiÀ ÷uøÁ¯õÚ PnUSPøÍ PõmkP. 

17. From the following particulars, calculate the value per 
equity share. 

 Rs. 
1000, 9% preference shares Rs. 100 each 1,00,000
1,00,000, equity shares of Rs. 5 each,
Rs. 2 per share paid up 2,00,000
Expected profits per year before tax 1,09,000
Rate of tax 50%
Transfer to general reserve every year 20% of the profit
Normal rate of earnings 15%

 ¤ßÁ¸® ö\´vPÎ¼¸¢x \õuõμn £[SuõμºPÐUS 
QøhUS® C»õ£zøuU PnUQkP. 

 ¹. 

1000, 9% •ßÝ›ø© £[SPÒ JßÖ ¹. 100  1,00,000

1,00,000, \õuõμn £[SPÒ JßÖ ¹. 5 ö\¾zv¯x ¹. 2 2,00,000

Gvº£õºUP¨£k® C»õ£® Á›US •ß 1,09,000

Á› Ãu® 50%

ö£õxU Põ¨¤ØS JÆöÁõ¸ Bsk ©õØÓ® 20% C»õ£zvÀ

C¯À£õÚ C»õ£ Ãu® 15%

18. Draft the balance sheet of a limited company in 
prescribed form as per schedule Vi of Indian companies 
Act with imaginary figures. 

 J¸ Áøμ¯ÖUP¨£mh {Ö©zvß C¸¨¦{ø»USÔ¨ø£ 
C¢v¯ P®ö£Û \mh® AmhÁøn Vi ß £i PØ£øÚ 
öuõøP²hß ÁøμP. 
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19. Balance sheets of A Ltd and B Ltd as on 31st March 2015, 
are given below : 

Liabilities A Ltd
Rs. 

B Ltd
Rs. 

Assets A Ltd
Rs. 

B Ltd
Rs. 

Share capital 
(shares of Rs. 
10 each) 5,00,000 2,00,000

Fixed assets 3,00,000 1,00,000

General 
reserve 1,00,000 50,000

15,000 shares 
in B Ltd 1,65,000 –

Profit and loss 
a/c 60,000 35,000

Current 
assets 2,75,000 2,35,000

Creditors 80,000 60,000Preliminary 
expenses –– 10,000

 7,40,000 3,45,000 7,40,000 3,45,000

 A Ltd acquired the shares on 1st April 2014 on which date 
general reserve and profit and loss account of B Ltd 
showed balances of Rs. 40,000 and Rs. 8,000 respectively. 

 Preliminary expenses are not written off during the year 
ending 31st March 2015. Prepare a consolidated balance 
sheet. 

 ©õºa 31, 2015 AßøÓ¯ A {Ö©® ©ØÖ® B {Ö©zvÀ 
C¸¨¦{ø»USÔ¨¦PÒ ¤ßÁ¸©õÖ. 

ö£õÖ¨¦PÒ A Ltd
¹. 

B Ltd
¹. 

ö\õzxUPÒ A Ltd
¹. 

B Ltd
¹. 

£[S •uÀ 
(£[S JßÖ ¹. 
10 Ãu®) 5,00,000 2,00,000

{ø»a 
ö\õzxPÒ 

3,00,000 1,00,000

ö£õx Põ¨¦ 1,00,000 50,000B {Ö©zvÀ 
15,000 
£[SPÒ 
Áõ[Q¯x 1,65,000 –

C»õ£ |mh 
PnUS 60,000 35,000

|h¨¦ 
ö\õzxUPÒ 2,75,000 2,35,000

PhÜ¢÷uõºPÒ 80,000 60,000öuõhUPa 
ö\»ÄPÒ –– 10,000

 7,40,000 3,45,000 7,40,000 3,45,000
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 H¨μÀ 1, 2014 AßÖ A ©ØÖ® B {Ö©zvÀ £[SPøÍ 
Áõ[S® ÷uv°À ö£õxPõ¨¦ ©ØÖ® C»õ£ |mhU 
PnUQß C¸¨£õP ¹. 40,000 ©ØÖ® ¹. 8,000 B 
{Ö©zvß C¸¨¦{ø»U SÔ¨¤À C¸¢ux. ©õºa 31, 2015 
AßÖ öuõhUPa ö\»ÄPÒ ÷£õUöPÊu¨£hõ©À C¸¢ux. 
J¸[Qøn¢u C¸¨¦{ø»U SÔ¨ø£ u¯õº ö\´P. 

20. From the following ledger balances of Tamilnadu Bank 
Ltd. as at 31.3.2016 are furnished to you prepare the 
profit and loss account and balance sheet. 

Statutory reserve 1,20,000 Commission 4,500

Bad debts written off 12,800 Cash 22,500

Operating expenses 18,200 Interest earned 55,000

Current accounts 20,24,500 Balance with RBI 2,03,000

Interest paid 16,000 Balance will foreign banks 1,20,600

Deposits account 6,92,00 Borrowings form banks 6,48,200

P&L a/c 22,900 Cash credit and overdraft 15,45,700

Bills receivable 1,50,000 Investments 9,88,200

Discount 24,400 Bills discounted 6,22,800

Endorsements and guarantees 57,500 Buildings 2,21,700

Share capital 2,00,000 Bills for collection 1,50,000

 Additional information : 

 (a) Rebate on bills discounted to be provided Rs. 6,400 

 (b) The bank had paid an interim dividend of Rs. 
20,000 during the year. 

 ¤ßÁ¸QßÓ ÷£÷μmk C¸¨¦PÒ uªÌ|õk Á[Q°Ýøh¯ 
31.3.2016® Bsk •i¯ EÒÍøÁ. CøÁPøÍU öPõsk 
C»õ£ |mh PnUS ©ØÖ® C¸¨¦{ø»U SÔ¨¤øÚ 
u¯õ›zx PõmhÄ®. 

\mh•øÓ Põ¨¦ 1,20,000 PÈÄ 4,500

ÁμõUPhß }UQ¯x 12,800 öμõUP® 22,500

ö\¯À•øÓ ö\»ÄPÒ 18,200 Ámi ö£ØÓx 55,000

|h¨¦ øÁ¨¦ 20,24,500 ›\ºÆ Á[Q°À C¸¨¦ 2,03,000

Ámi ö\¾zv¯x  16,000 Á[P C¸¨¦ (öÁÎ 
|õmiÀ) 1,20,600
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øÁ¨¦ PnUS 6,92,00 Á[Q°¼¸¢x ö£ØÓ 
Phß 6,48,200

C»õ£|mh PnUS 22,900 öμõUP Phß ©ØÖ® 
AvP¨£ØÖ  15,45,700

ÁμÄUS›¯ ©õØÖa^mk 1,50,000 •u½kPÒ 9,88,200

uÒÐ£i 24,400 uÒÐ£i ö\´¯¨£mh 
©õØÖa^mk 

6,22,800

÷©ö»ÊuÀ ©ØÖ® áõªß 
(Gvº ö£õÖ¨¦) 57,500

Pmih® 2,21,700

£[S •uÀ 2,00,000 Á`¾USÒÍ ©õØÖa 
^mkPÒ 1,50,000

 \›UPmkuÀPÒ : 

 (A) uÒÐ£i ö\´¯¨£mh ©õØÖa ^mkUS›¯ ›÷£m  
¹. 6,400 

 (B) uØPõ¼P C»õ£ DÄ ¹. 20,000 |h¨¦ BsiÀ 
ö\¾zu¨£mhx. 

 

 

  

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. Define the term entrepreneur. 

 öuõÈÀ•øÚ÷Áõº GÝ® £uzøu Áøμ¯ÖUP. 

2. Who are women entrepreneurs? 

 ©PÎº öuõÈÀ•øÚ÷Áõº Gß£ÁºPÒ ¯õøÁ? 

3. What is meant by business idea? 

 Â¯õ£õμ ÷¯õ\øÚ £ØÔ AÔÁx GßÚ? 

4. What do you mean by feasibility study? 

 \õzv¯UTÖ B´øÁ¨ £ØÔ }Âº AÔÁx GßÚ? 

5. What is meant by combined lay out? 

 Tmk ÁiÁø©¨¦ £ØÔ AÔÁx GßÚ? 

6. Trace the meaning of marketing risk. 

 \¢øu°¯À Chº Gß£uß ö£õ¸øÍ u¸P. 

Sub. Code 
10263/12563/
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7. What is project report? 

 vmh AÔUøP GßÓõÀ GßÚ? 

8. What is innovation? 

 ¦zuõUP® Gß£x ¯õx? 

9. What do you mean by industrial sickness? 

 öuõÈØ\õø» |¼ÁøhuÀ £ØÔ }Âº AÔÁx GßÚ? 

10. What is franchising? 

 E›ø©°¯À GßÓõÀ GßÚ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Differentiate the entrepreneur with 
entrepreneurship. 

   öuõÈÀ •øÚ÷Áõøμ²®, öuõÈÀ•øÚøÁ²® 
÷ÁÖ£kzxP. 

Or 

 (b) Enumerate briefly the functions of NSIC. 

   NSIC Cß £oPøÍ _¸UP©õP ÂÁõvUP. 

12.  (a) Explain the various steps involved in opportunity 
analysis. 

   Áõ´¨¦ £S¨£õ´ÂÀ EÒÍh[Q²ÒÍ £À÷ÁÖ 
£i{ø»PøÍ ÂÍUSP. 

Or 

 (b) Analyse the contents of financial feasibility. 

   {v \õzv¯UTÖPÎß EÒÍhUPzøu Bμõ´P. 
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13.  (a) Discuss the factors to be considered while selecting 
location for the industrial unit. 

   öuõÈØ\õø»UPõÚ ChAø©øÁ ÷uº¢öukUS® 
ö£õÊx PÁÛUP ÷Ási¯ PõμoPøÍ ÂÍUSP. 

Or 

 (b) What are the various methods of project appraisal? 

   vmh ©v¨¥miØPõÚ £À÷ÁÖ •øÓPÒ ¯õøÁ? 

14.  (a) State the role of entrepreneur in economic 
development. 

   ö£õ¸Íõuõμ ÁÍºa]°À öuõÈÀ•øÚ÷Áõ›ß 
£[øPU SÔ¨¤kP. 

Or 

 (b) Bring out the importance of creativity. 

   £øh¨£õØÓ¼ß •UQ¯zxÁzøu öÁÎU öPõnºP. 

15.  (a) Analyse the causes of industrial sickness. 

   öuõÈØ\õø» |¼ÁøhÁuØPõÚ Põμn[PøÍ 
Bμõ´P. 

Or 

 (b) Explain the different types of franchising. 

   E›ø©°¯¼ß £À÷ÁÖ ÁøPPøÍ _¸UP©õP 
ÂÁ›UP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Describe the problems and scope of women 
entrepreneurship. 

 ö£s öuõÈÀ •øÚ÷ÁõºPÎß ¤μa\øÚPÒ ©ØÖ® 
GÀøPø¯ ÂÁ›UP. 
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17. Discuss briefly the different sources of business 
identification opportunities. 

 Â¯õ£õμ Áõ´¨¦PøÍ PshÔÁuØPõÚ £À÷ÁÖ 
‰»[PøÍ _¸UP©õP ÂÁõvUP. 

18. Briefly discuss the various sources of finance. 

 {v°ß £À÷ÁÖ ‰»[PøÍ _¸UP©õP ÂÁõvUP. 

19. Discuss the tax concessions available to small scale units. 

 ]Ô¯ AÍÂ»õÚ A»SPÐUS QøhUS® Á›a 
\¾øPPøÍ¨ £ØÔ ÂÁõvUPÄ®. 

20. Explain the various problems of rural entrepreneurship. 

 Qμõ©¨¦Ó öuõÈÀ •øÚÂß £À÷ÁÖ ¤μa\øÚPøÍ 
ÂÍUSP. 

 

 

  

———————— 
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SECTION A — (10 × 2 = 20 marks) 

Answer ALL questions. 

1. What is meant by functional MIS? 

 ö\¯À£õmk MIS £ØÔ AÔÁx GßÚ? 

2. Mention any three benefits of hardware support in MIS. 

 MIS–À Áßö£õ¸Ò BuμÂß H÷uÝ® ‰ßÖ 
|ßø©PøÍU SÔ¨¤kP. 

3. What do you mean by systems analysis? 

 Aø©¨¦PÒ £S¨£õ´Ä £ØÔ }Âº AÔÁx GßÚ? 

4. State the limitations of MIS planning. 

 MIS vmhªh¼ß SøÓ£õkPøÍU u¸P. 

5. What are the key components of ERP? 

 ERP ß •UQ¯ TÖPÒ ¯õøÁ? 

6. What do you understand by E-communication? 

 ªß öuõhº¦ £ØÔ }Âº ¦›¢xöPõÒÁx GßÚ? 

Sub. Code 
10264/12564



D–8244 
  2

7. State any three characteristics of DSS. 

 DSS–ß H÷uÝ® ‰ßÖ ]Ó¨¤¯À¦PøÍ u¸P. 

8. Write note on deterministic systems. 

 {ºn¯ Aø©¨¦ £ØÔ SÔ¨¦ GÊxP. 

9. What is meant by network? 

 Áø»uÍ® £ØÔ AÔÁx GßÚ? 

10. What are the advantages of data encryption? 

 uμÄ SÔ¯õUPzvß |ßø©PÒ ¯õøÁ? 

SECTION B — (5 × 5 = 25 marks) 

Answer ALL questions choosing either (a) or (b). 

11. (a) Bring out the importance of management 
information system. 

   ÷©»õsø© uPÁÀ Aø©¨¤ß •UQ¯zxÁzøu 
öÁÎU öPõnºP. 

Or 

 (b) List out the steps involved in decision making 
process. 

   •iöÁkzuÀ ö\¯À£õmiÀ EÒÍ £iPøÍ¨ 
£mi¯¼kP. 

12.  (a) Distinguish between planning information and 
control information. 

   vmhªhÀ Â£μ® ©ØÖ® Pmk¨£õmk Â£μ® 
BQ¯ÁØøÓ ÷ÁÖ£kzxP. 

Or 

 (b) What are the benefits of BPR? Explain. 

   BPR–ß |ßø©PÒ ¯õøÁ? ÂÍUSP. 
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13.  (a) State the role of MIS at management levels. 

   ÷©»õsø©{ø»PÎÀ MIS–ß £[øPU SÔ¨¤kP. 

Or 

 (b) Explain the types of E-enterprise systems. 

   ªßÚq {ÖÁÚ Aø©¨¦PÎß ÁøPPøÍ ÂÍUSP. 

14.  (a) List out the recent trends in MIS. 

   MIS–ß \«£zv¯ ÷£õUSPøÍ¨ £mi¯¼kP. 

Or 

 (b) Briefly explain the kinds of mathematical 
programming techniques. 

   Pou {μ»õUP ~m£[PÎß ÁøPPøÍ _¸UP©õP 
ÂÍUSP. 

15.  (a) Bring out the basic components of computer 
systems. 

   PoÛ Aø©¨¦PÎß Ai¨£øh TÖPøÍ 
öÁÎUöPõnºP. 

Or 

 (b) What is DBMS? State its features. 

   DBMS GßÓõÀ GßÚ? Auß C¯À¦PøÍU 
SÔ¨¤kP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

16. Discuss the classifications of information systems. 

 uPÁÀ Aø©¨¦PÎß ÁøP¨£õkPÒ £ØÔ ÂÁõvUP. 

17. What is object-oriented technology? Explain its benefits 
and limitations. 

 ÷|õUP® \õº¢u öuõÈÀ~m£® GßÓõÀ GßÚ? Auß 
|ßø©PÒ ©ØÖ® SøÓ£õkPøÍ ÂÍUSP. 
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18. Describe the benefits and challenges of enterprise 
systems. 

 {ÖÁÚ Aø©¨¦PÎß |ßø©PÒ ©ØÖ® \ÁõÀPøÍ 
ÂÁ›UP. 

19. Enumerate the different models of management science. 

 ÷©»õsø© AÔÂ¯¼ß öÁÆ÷ÁÖ ©õv›PøÍ PnUQkP. 

20. Analyse the various types of security hazards. 

 £À÷ÁÖ ÁøP¯õÚ £õxPõ¨¦ A£õ¯[PøÍ £S¨£õ´Ä 
ö\´P. 

 

 

  

———————— 


